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instructionS To candidates
	 1.	 Immediately after getting the booklet read instructions carefully, 

mentioned on the front and back page of the question booklet and 
do not open the seal given on the right hand side, unless asked by 
the invigilator.

	 2.	 Write your Roll No., Answer-Sheet No., in the specified places 
given above and do your signature.

	 3.	 Make all entries in the OMR Answer-Sheet as per the given 
instructions otherwise Answer-Sheet will not be evaluated.

	 4.	 After Opening the seal, ensure that the Question Booklet 
contains total no. of pages as mentioned above and printing 
of all the 200 question is proper. If any discrepancy is found, 
inform the invigilator within 15 minutes and get the correct 
booklet.

	 5.	 While answering the question from the Question Booklet, for each 
question choose the correct/most appropriate option out of four 
most appropriate options given, as answer and darken the circle 
provided against that option in the OMR Answer-Sheet, bearing 
the same serial number of the question. Darken the circle only with 
Black or Blue ball point pen.

	 6.	 Darken the circle of correct answer properly, otherwise answers 
will not be evaluated. The candidate will be fully responsible for it.

	 7.	 There are 200 objective type questions in this Question Booklet.  
1 mark is allotted for each correct answer. 

	 8.	 No negative marking will be done.

	 9.	 Do not write anything anywhere in the Question Booklet and 
the Answer-Sheet except making entries in the specified places 
otherwise OMR sheet will not be evaluated.

	10.	 After completion of the examination, only OMR Answer Sheet is to 
be handed over to the invigilator. Carbon copy of the Answer-Sheet 
and Question Booklet may be taken away by the examinee.

	11.	 This Question booklet contains three Parts :
	 (i)	 AG-1 : – (Physics, Chemistry, 			   Q. No. 1-80
				   Mathematics and Biology)
	 (ii)	 AG-2 : – (Crop Production and Horticulture)	Q. No. 81-140
	 (iii)	 AG-3 : – (Elements of Animal Husbandry	  	Q. No. 141-200
				   and Poultry Farming) 
		  Each question contains 1 mark. All questions are compulsory.
	12.	 In case of any ambiguity in English version the Hindi version shall 

be considered authentic.
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		  Physics, Chemistry, Mathematics 
and Biology

	 1.	 Two electric bulbs are 220 Volt 
		  – 500 Watt each are put in series in a line  

of 110 Volt. Power consumed in each 
bulb will be	

	 (A)	 62.5 Watt	 (B)	 60.5 Watt

	 (C)	 31.25 Watt	 (D)	 30.25 Watt

	 2.	 1 kilowatt hour is equal to 	

	 (A)	 3.6 × 106 Joules	

	 (B)	 3.6 × 104 Joules	

	 (C)	 103 Joules		

	 (D)	 6 × 104 Joules	

	 3.	 A person’s near point is 50 cm and 
far point is 1.5 m. What power of 
spectacles will be required for reading 
purpose, if least distance of distinct 
vision is 25 cm ?

	 (A)	 0.667 D	 (B)	 + 1.5 D
	 (C)	 – 1.5 D	 (D)	 + 2 D

	 4.	 The length of a simple astronomical 
telescope is	

	 (A)	 The difference of the focal lengths 
of the two lenses	

	 (B)	 Half the sum of focal lengths

	 (C)	 The sum of focal lengths	

	 (D)	 Product of the focal lengths

^m¡{VH$ emñÌ, agm`Z emñÌ, 
J{UV Ed§ Ord emñÌ

	 1.	 Xmo {dÚwV ~ë~ àË`oH$ 220 dmoëQ> - 500 dmQ> H$mo 
110 dmoëQ> Ho$ bmBZ _| loUr H«$_ _| aIm J`m h¡ & 
àË`oH$ ~ë~ _| epŠV ì`` hmoJm

	 (A)	 62.5 dmQ>	 (B)	 60.5 dmQ

	 (C)	 31.25 dmQ	 (D)	 30.25 dmQ

	 2.	 1 {H$bmodmQ> K§Q>m ~am~a h¡ 

	 (A)	 3.6 × 106 Oyb	

	 (B)	 3.6 × 104 Oyb	

	 (C)	 103 Oyb		

	 (D)	 6 × 104 Oyb	

	 3.	 EH$ ì`pŠV Ho$ {bE {ZH$Q> q~Xþ 50 go_r Ed§ Xÿa q~Xþ 
1.5 _r h¡ & n‹T>mB© H$aZo Ho$ {bE Cgo {H$VZo nmda 
H$m Mí_m Mm{hE `{X ñnîQ> ÑpîQ> H$s Ý`yZV_ Xÿar 
25 go_r h¡ ?

	 (A)	 0.667 D	 (B)	 + 1.5 D
	 (C)	 – 1.5 D	 (D)	 + 2 D

	 4.	 gmYmaU IJmobr` Q>o{bñH$mon H$s bå~mB© hmoJm 

	 (A)	 Xmo b|gm§o Ho$ \$moH$g Xÿar Ho$ A§Va	

	 (B)	 \$moH$g Xÿ[a`m| Ho$ `moJ H$m AmYm

	 (C)	 \$moH$g Xÿ[a`m| H$m `moJ	

	 (D)	 \$moH$g Xÿ[a`m| H$m JwUZ\$b

AG – 1
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	 5.	 For a prism PQR, the incident and 
emergent rays are parallel as shown in 
figure. The minimum value of refractive 
index of the prism is	

		
	 (A)	 1.5	 (B)	 2

	 (C)	 3 	 (D)	 2

	 6.	 If the refractive indices of glass for 
violet and red light are 1.66 and 
1.64 respectively, then the angular 
dispersion of a 10° prism of glass is

	 (A)	 0.20°	 (B)	 1.20°

	 (C)	 0.02°	 (D)	 2.20°

	 7.	 Two identical mercury drops are 
charged to the same potential V. If the 
two drops coalesce into one drop, then 
the potential will be

	 (A)	 V		

	 (B)	 ( )2
1
3 V

	 (C)	 ( )2
3
2 V 	

	 (D)	 ( )2
2
3 V

	 5.	 PQR {àÁ_ Ho$ {bE, Amn{VV VWm {ZJ©V {H$aU| 
{MÌ Ho$ AZwgma g_mZmÝVa h¡ & {àÁ_ Ho$ AndV©Zm§H$ 
H$m Ý`yZV_ _mZ hmoJm

		
	 (A)	 1.5	 (B)	 2

	 (C)	 3 	 (D)	 2

	 6.	 `{X {H$gr H$m§M H$m ~§¡JZr Ed§ bmb àH$me Ho$ {bE 
AndV©Zm§H$ H«$_e: 1.66 Ed§ 1.64 h¡, Vmo H$m§M 
Ho$ 10° {àÁ_ H$m H$moUr` \¡$bmd h¡ 

	 (A)	 0.20°	 (B)	 1.20°

	 (C)	 0.02°	 (D)	 2.20°

	 7.	 Xmo EH$ g_mZ _aŠ`w[a ~y§X H$mo g_mZ {d^d V VH$ 
Amdo{eV {H$`m J`m h¡ & `{X XmoZm| ~y§Xo EH$ gmW 
{_bH$a EH$ ~§yX ~Z Om`, Vmo CgH$m {d^d hmoJm 

	 (A)	 V	

	 (B)	 ( )2
1
3 V

	 (C)	 ( )2
3
2 V 	

	 (D)	 ( )2
2
3 V
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	 8.	 A parallel plate condenser is filled 
with two dielectric as shown in figure. 
Area of each plate is A m2 and the 
separation is d metre. The dielectric 
constant are K1 and K2 respectively. 
Its capacitance in Farad will be	

		

	 (A)	 ∈
+0

1 2
A

d
K K( ) 	

	 (B)	 ∈ +0 1 2

2
A

d
K K( )

	 (C)	 ∈
+0

1 22
A

d
K K( ) 	

	 (D)	
∈ −0 1 2

2
A

d
K K( )

	 9.	 The density of ice is 0.9 gm/cc and that 
of sea water is 1.1 gm/cc. An ice-berg 
of volume V is floating in sea water, 
fraction of volume of ice-berg above 
the water level is

	 (A)	
9
11
V

	 (B)	
5
11
V

	 (C)	
2
11
V

	 (D)	
1
11
V

	 8.	 EH$ g_mZmÝVa ßboQ> g§Ym[aÌ {MÌ Ho$ AZwgma Xmo 
namd¡ÚwV go ^am hþAm h¡ & àË`oH$ ßboQ> H$m joÌ\$b 
A _r2 VWm CZHo$ ~rM Xÿar  d _rQ>a h¡ & namd¡ÚwV 
{Z`Vm§H$ H«$_e: K1 Ed§ K2 h¡ & BgH$s Ym[aVm \¡$aoS> 
_| hmoJm

		

	 (A)	 ∈
+0

1 2
A

d
K K( ) 	

	 (B)	 ∈ +0 1 2

2
A

d
K K( )

	 (C)	 ∈
+0

1 22
A

d
K K( ) 	

	 (D)	
∈ −0 1 2

2
A

d
K K( )

	 9.	 ~\©$ H$m KZËd 0.9 J«m_/grgr Am¡a g_wÐ Ho$ nmZr 
H$m KZËd 1.1 J«m_/grgr h¡ & V Am`VZ H$m 
{h_I§S> g_wÐ nmZr _| V¡a> ahm h¡, Vmo {h_I§S> H$m 
{H$VZm Am`VZ nmZr Ho$ Vb go D$na hmoJm ?

	 (A)	
9
11
V

	 (B)	
5
11
V

	 (C)	
2
11
V

	 (D)	
1
11
V
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	 10.	 Two blocks are connected over a 
massless pulley as shown in figure. 
The mass of block A is 10 kg and the 
coefficient of kinetic friction is 0.2. 
Block A slides down the incline at 
constant speed. The mass of block B 
in kg is

		

	 (A)	 3.5	

	 (B)	 3.3

	 (C)	 3.0	

	 (D)	 2.5

	 11.	 A wire PQR bent as shown in figure 
is placed in the region of a uniform 
magnetic field B as shown in figure,  
PQ = QR = a. The ratio of force on PQ 
and QR, when a current i is flowing, is	

	 (A)	 Zero	

	 (B)	 Infinity

	 (C)	 Bi. a	

	 (D)	 2 Bi. a

	 10.	 Xmo JwQ>H$m Ðì`_mZ a{hV {Ka>Zr go {MÌ Ho$ AZwgma 
Ow‹S>m hþAm h¡ & JwQ>H$m  A H$m Ðì`_mZ 10 {H$.J«m. 
Ed§ J{VO Kf©U H$m JwUm§H$ 0.2 h¡ & JwQ>H$m A 
ZVg_Vb _| {Z`V Mmb go ZrMo {\$gbVm h¡, Vmo 
JwQ>H$m B H$m Ðì`_mZ {H$.J«m. _| hmoJm

		

	 (A)	 3.5	

	 (B)	 3.3

	 (C)	 3.0	

	 (D)	 2.5

	 11.	 {MÌ Ho$ AZwgma EH$ Vma PQR H$mo _mo‹S>H$a EH$ 
g_mZ Mwå~H$s` joÌ B _| {MÌ Ho$ AZwgma aIm J`m 
h¡, Ohm± PQ = QR = a. PQ Am¡a QR na bJZo 
dmbo ~b H$m AZwnmV hmoJm, ̀ {X Ymam i àdm{hV hmo 
ahr h¡ 

		
	 (A)	 eyÝ`	

	 (B)	 AZÝV

	 (C)	 Bi. a	

	 (D)	 2 Bi. a
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	 12.	 The galvanometer based on tangent 
law is called	

	 (A)	 D’arsonval galvanometer	

	 (B)	 Tangent galvanometer

	 (C)	 Ballistic galvanometer	

	 (D)	 Sine galvanometer

	 13.	 One kg of ice at 0°C is mixed with  
9 kg of water at 50°C, then the resulting 
temperature will be	

	 (A)	 47°C	 (B)	 42°C
	 (C)	 39°C	 (D)	 37°C

	 14.	 A larger ice berg melts at the base but 
not at the top because	

	 (A)	 The base of ice berg remains in 
warmer surroundings	

	 (B)	 Ice at base contain impurities

	 (C)	 Due to high pressure ice at the 
base lowers its melting point	

	 (D)	 Ice at the top is of different kind

	 15.	 The mechanical advantage of an ideal 
single movable pulley is	

	 (A)	 1	

	 (B)	 2

	 (C)	 less than 1	

	 (D)	 less than 2

	 12.	 ñne©Á`m {Z`_ Ho$ AmYm[aV Ymam_mnr H$mo  
H$hVo h¡§

	 (A)	 Xr’Agmo©db Ymam_mnr	

	 (B)	 ñne©Á`m Ymam_mnr

	 (C)	 àjon (~¡bopñQ>H$)	 Ymam_mnr

	 (D)	 Á`m Ymam_mnr

	 13.	 0°C Ho$ 1 {H$J«m ~\©$ H$mo 50°C Ho$ 9 {H$J«m nmZr 
Ho$ gmW {_bm`m OmVm h¡, Vmo n[aUm_r Vmn  hmoJm

	 (A)	 47°C	 (B)	 42°C

	 (C)	 39°C	 (D)	 37°C

	 14.	 EH$ ~‹S>m {h_I§S> ZrMo Vbr _| {nKb OmVm h¡ naÝVw 
{eIa (Q>m°n) na Zht {nKbVm, Š`m| {H$

	 (A)	 ZrMo Vbr _| {h_I§S> Ja_ n[adoe _|  
ahVm h¡	

	 (B)	 Vbr Ho$ ~\©$ _| Aew{Õ ahVm h¡

	 (C)	 CÀM Xm~ Ho$ H$maU Vbr Ho$ ~\©$ H$m JbZm§H$ 
H$_ hmo OmVm h¡

	 (D)	 {eIa na ~\©$ EH$ AbJ {H$ñ_ H$m hmoVm h¡

	 15.	 EH$ AmXe© EH$b Mbm`_mZ {Ka>Zr H$m ̀ m§{ÌH$ bm^ 
hmoVm h¡

	 (A)	 1	

	 (B)	 2

	 (C)	 1 go H$_	

	 (D)	 2 go H$_
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	 16.	 If the change in the value of ‘g’ at a 
height h above the surface of the earth 
is the same as at a depth x below it, 
when both x and h are much smaller 
than the radius of the earth, then	

	 (A)	 x = 2h	

	 (B)	 x = h

	 (C)	 x = 
h
2

	 (D)	 x = h2

	 17.	 A slab consists of two parallel 
layers of two different materials of 
same thickness and having thermal 
conductivities k1 and k2. The 
equivalent thermal conductivity of the 
slab is	

	 (A)	 K1 + k2	

	 (B)	 K1k2

	 (C)	 K K
K K
1 2

1 2

+ 	

	 (D)	
2 1 2

1 2

K K
K K+

	 18.	 A body cools from 91°C to 89°C in  
5 minutes, when the room temperature 
is 20°C, then it will cool from 71°C to 
61°C in	

	 (A)	 10 min	 (B)	 9 min

	 (C)	 7 min	 (D)	 6 min

	 16.	 n¥Ïdr Ho$ gVh go D$na h D§$MmB© na ‘g’ Ho$ _mZ _| 
n[adV©Z CgHo$ gVh go ZrMo x JhamB© na g_mZ h¡ & 
`{X x Am¡a h H$m _mZ n¥Ïdr Ho$ {ÌÁ`m go ~hþV H$_ 
h¡, Vmo

	 (A)	 x = 2h	

	 (B)	 x = h

	 (C)	 x = 
h
2

	

	 (D)	 x = h2

	 17.	 Xmo g_mZ _moQ>mB© Ed§ {d{^Þ nXmWmoª {OgH$m D$î_r` 
MmbH$Vm k1 Ed§ k2 h¡, Ho$ g_mZmÝVa naV go 
EH$ nÅ>r ~Zm h¡,  Vmo nÅ>r H$m Vwë` D$î_r`  
MmbH$Vm h¡ 

	 (A)	 K1 + k2	
	 (B)	 K1k2

	 (C)	 K K
K K
1 2

1 2

+ 	

	 (D)	
2 1 2

1 2

K K
K K+

	 18.	 EH$ dñVw 91°C go 89°C VH$ 5 {_{ZQ> _| R>§S>m 
hmoVm h¡, O~{H$ H$_ao H$m Vmn 20°C h¡, Vmo 71°C 
go 61°C VH$ R>§S>m hmoZo _| g_` bJoJm 

	 (A)	 10 {_{ZQ>	 (B)	 9 {_{ZQ>

	 (C)	 7  {_{ZQ>	 (D)	 6 {_{ZQ>
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	 19.	 The equivalent resistance between 
the points A and B in the following  
circuit is	

	 (A)	 5 Ω	

	 (B)	 6 Ω

	 (C)	 7 Ω	

	 (D)	 9 Ω

	 20.	 Two cells, each of emf E and internal 
resistance r, are connected in parallel 
across resistance R. The power 
delivered to the resistor is a maximum 
if R is equal to	

	 (A)	
r
2

	

	 (B)	 r

	 (C)	 2r	

	 (D)	 0	

	 19.	 q~Xþ A d q~Xþ B Ho$ ~rM Vwë`m§H$s à{VamoY {ZåZ 
n[anW Ho$ AZwgma hmoJm

	 (A)	 5 Ω	

	 (B)	 6 Ω

	 (C)	 7 Ω	

	 (D)	 9 Ω

	 20.	 Xmo gob {OgH$m àË`oH$ H$m {d.dm.~. E  Ed§ 
Am§V[aH$ à{VamoY r h¡, à{VamoY R Ho$ gmW g_mZmÝVa 
H«$_ _| Ow‹S>m h¡ & à{VamoY H$mo A{YH$V_ epŠV 
{S>{bda hmoJm `{X R ~am~a h¡ 

	 (A)	
r
2

	

	 (B)	 r

	 (C)	 2r	

	 (D)	 0
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	 21.	 NPK fertilizers is prepared by mixing the 
following compd. in the form 4 : 2 : 1.

	 (A)	 Liq. NH3, phosphoric acid and 
urea

	 (B)	 Liq. NH3, phosphoric acid sulphuric 
acid and KCl

	 (C)	 Ammonium sulphate, calcium 
phosphate and potassium chloride

	 (D)	 Calcium phosphate, ammonium 
nitrate and potassium chloride

	 22.	 Which statements are correct ? 
	 1.	 16 micro nutrients are required for 

plants
	 2.	 4 cation and 3 anion form of  

micro nutrients are very 
important in plant growth

	 3.	 Boron is essential in nitrogen 
fixation

	 4.	 Zinc can used to balance plant 
hormones and auxin activity

	 (A)	 1, 4	 (B)	 1, 2, 3
	 (C)	 1, 3, 4	 (D)	 1, 2, 4

	 23.	 Which acid easily react with ethanol to 
form ester ?

	 (A)	 HCOOH	

	 (B)	 C2H5COOH

	 (C)	 (CH3)2CH.COOH

	 (D)	 (CH3)3C.COOH

	 21.	 NPK ImX ~ZmZo Ho$ {bE {ZåZ ̀ m¡{JH$m§o H$mo {_bmZo 
na 4 : 2 : 1 AZwnmV _| ~ZVm h¡ &

	 (A)	 Ðd NH3, \$mñ\$mo[aH$ Aåb Ed§ `ÿ[a`m

	 (B)	 Ðd NH3, \$mñ\$mo[aH$ Aåb gë\y$[aH$ Aåb 
Ed§ KCl

	 (C)	 A_mo{Z`_ gë\o$Q>, H¡$pëe`_ \$mñ\o$Q> Ed§ 
nmoQ>o{e`_ ŠbmoamBS>

	 (D)	 H¡$pëe`_ \$mñ\o$Q>, A_mo{Z`_ ZmBQ´>oQ> Ed§ 
nmoQ>o>{e`_ ŠbmoamBS>

	 22.	 H$m¡Z-gm H$WZ ghr h¡ ?

	 1.	 16 gyú_ nmofH$ nm¡Ymo§ Ho$ {bE Amdí`H$ h¡ 

	 2.	 4 Ho$Q>m`Z Ed§ 3 EZm`Z gyú_ nmofH$ nm¡Yo H$s 
d¥{Õ Ho$ {bE _hËdnyU© h¡ 

	 3.	 ZmBQ´>moOZ Ho$ pñWarH$aU Ho$ {bE ~moamZ 
Amdí`H$ h¡ 

	 4.	 nm¡Ymo§ _| CnpñWV hma_moZ Ed§ AmpŠgZ H$s 
{H«$`merbVm H$mo g§Vw{bV H$aZo Ho$ {bE qOH$ H$m 
Cn`moJ H$aVo h¡§ 

	 (A)	 1, 4	 (B)	 1, 2, 3
	 (C)	 1, 3, 4	 (D)	 1, 2, 4

	 23.	 H$m¡Z-gm Aåb EWoZm°b Ho$ gmW AmgmZr go {H«$`m 
H$aHo$ EñQ>a ~ZmEJm ?

	 (A)	 HCOOH	

	 (B)	 C2H5COOH

	 (C)	 (CH3)2CH.COOH

	 (D)	 (CH3)3C.COOH
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	 24.	 Compound gives silver mirror test with 
ammonical silver nitrate solution on 
warming.

	 (A)	 Benzoic acid

	 (B)	 Acetic acid

	 (C)	 Formic acid 

	 (D)	 Ethanol

	 25.	 The ground state electronic configuration 
of Fe3+ is 

	 (A)	 [Ar]3d34s2	

	 (B)	 [Ar]3d64s2

	 (C)	 [Ar]3d5	

	 (D)	 [Ar]3d44s1

	 26.	 Which is not correctly matched in the 
following pair ?

	 (A)	 XeO3 : Trigonal bipyramidal

	 (B)	 ClF3 : T-shape

	 (C)	 XeOF4 : Square Pyramidal

	 (D)	 XeF2 : Linear

	 27.	 Which method is not used for 
preparation of methane ?

	 (A)	 Grignard Reagent

	 (B)	 Sabatier-Senderen’s method

	 (C)	 Clemmensen’s Reduction

	 (D)	 Kolbe’s Electrolytic Reaction

	 24.	 `m¡{JH$ A_moZrH$b {gëda ZmBQ´>oQ> {db`Z Ho$ gmW 
J_© H$aZo na {gëda {_aa narjU XoVm h¡ &

	 (A)	 ~oÝOmoBH$ Aåb

	 (B)	 Egr{Q>H$ Aåb

	 (C)	 \$m{_©H$ Aåb

	 (D)	 EWoZm°b

	 25.	 Fe3+ H$m BboŠQ´>mo{ZH$ {dÝ`mg gm_mÝ` AdñWm _| 
hmoJm

	 (A)	 [Ar]3d34s2	

	 (B)	 [Ar]3d64s2

	 (C)	 [Ar]3d5

	 (D)	 [Ar]3d44s1

	 26.	 {ZåZ _| go H$m¡Z-gm ghr `w½_ Zhr§ h¡ ?

	 (A)	 XeO3 : Q´>mB©JmoZb ~mB©{nam{_S>b

	 (B)	 ClF3 : Q>r-ê$n

	 (C)	 XeOF4 : ñŠd`a {nam{_S>b

	 (D)	 XeF2 :  a¡{IH$

	 27.	 {H$g {d{Y Ûmam {_WoZ Zhr§ ~ZmB© Om gH$Vr ?

	 (A)	 {J«½ZmS© A{^H$_©H$

>	 (B)	 g~mVr`a-goZS>oaZ {d{Y

	 (C)	 Šbo_oÝgZ AnM`Z

	 (D)	 H$moë~o {dÚwV AnKQ>Z {H«$`m
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	 28.	

		  What is the str. of [A] and [B] ?

	 (A)	 Acetone, Acetic acid
	 (B)	 Acetone, Formic acid
	 (C)	 Acetone, Sodium Acetate
	 (D)	 Acetone, Benzoic acid 

	 29.	 A particular saturated solution of silver 
chromate has [Ag+] = 5.0 × 10–5 M and 
[CrO4

2–] = 4.4 × 10–4 M. What is the 
value of Ksp for Ag2CrO4 ?

	 (A)	 11 × 10–24	 (B)	 1.1 × 10–12

	 (C)	 2.2 × 10–12	 (D)	 2.2 × 10–10

	 30.	 Two tablets of Aspirin containing 1.8 g 
dissolved in 100 ml water. If pKa of 
Aspirin is 2, then pH will be 

	 (A)	 2	 (B)	 0.5
	 (C)	 0.0	 (D)	 1.0

	 31.	 Which of the following carbohydrates 
is not a reducing sugar ?

	 (A)	 Glucose	

	 (B)	 Sucrose 

	 (C)	 Fructose	

	 (D)	 Lactose

	 28.	

		  [A]  Ed§ [B] H$s g§aMZm hmoJr 
	 (A)	 EgrQ>moZ, Egr{Q>H$ Aåb
	 (B)	 EgrQ>moZ, \$m{_©H$ Aåb
	 (C)	 EgrQ>moZ, gmo{S>`_ EgrQ>oQ>
	 (D)	 EgrQ>moZ, ~oÝOmoBH$ Aåb

	 29.	 g§V¥ßV {gëda H«$mo_oQ> {db`Z _|  
[Ag+] = 5.0 × 10–5 M  Ed§   
[CrO4

2–] = 4.4 × 10–4 M h¡ & Ag2CrO4 H$s 
{dbo`Vm JwUm§H$ Ksp H$m _mZ hmoJm 

	 (A)	 11 × 10–24	 (B)	 1.1 × 10–12

	 (C)	 2.2 × 10–12	 (D)	 2.2 × 10–10

	 30.	 1.8 g Eoñno[aZ H$s Xmo Jmobr H$mo 100 ml nmZr _| 
Kmobm J`m & ̀ {X Eoñno[aZ H$m pKa = 2 h¡, Vmo BgH$m  
pH hmoJm

	 (A)	 2	 (B)	 0.5
	 (C)	 0.0	 (D)	 1.0

	 31.	 {ZåZ{b{IV _| go H$m¡Z-gm H$m~m}hmBS´>oQ>> AnM`Z 
H$aZo dmbm eH©$am Zhr§ h¡ ?

	 (A)	 ½byH$moO	

	 (B)	 gyH«$moO

	 (C)	 \«$ŠQ>moO

	 (D)	 b¡ŠQ>moO
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	 32.	 Fat soluble Vitamins are 

	 (A)	 A, C and E
	 (B)	 A, D, E and K

	 (C)	 A, B, C, D

	 (D)	 Folacin, niacin, thiamine and iron

	 33.	 7.3 g HCl mixed without changing 
volume of 200 ml +ve colloidal solution 
precipitated. What is the precipitated 
value of HCl for colloidal sol. ?

	 (A)	 0.365	 (B)	 36.5

	 (C)	 200	 (D)	 100

	 34.	 If a freshly formed ppt of SnO2 is peptised 
by a small amount of NaOH, the formula 
for colloidal solution will be

	 (A)	 [SnO2]Sn4+ : O2 
–2	

	 (B)	 [SnO2]SnO3
2– : 2 Na+

	 (C)	 [SnO2] Na+ : OH
– 

	 (D)	 [SnO2] Sn4+ : OH
– 

	 35.	 Which one is not a detergent ?

	 (A)	 Sodium lauryl sulphate

	 (B)	 Sodium stearate

	 (C)	 Sodium dodecyl benzene 
sulphonate

	 (D)	 Sodium lauryl benzene 
sulphonate

	 32	 dgm _| {dbo` hmoZo dmbo {dQ>m{_Z h¡§ 

	 (A)	 A, C Ed§ E

	 (B)	 A, D, E Ed§ K

	 (C)	 A, B, C, D

	 (D)	 \$moAm{gZ, Zm`{gZ, Wm`_rZ Ed§ Am`aZ

	 33.	 200 ml Adjo{nV YZmË_H$ H$mobmBS>b {db`Z 
H$m Am`VZ n[ad{V©V {H$E {~Zm 7.3 g HCl 
{_bm`m OmVm h¡ & Bg H$mobmBS>b {db`Z Ho$ {bE 
HCl H$m AdjonU _mZ hmoJm

	 (A)	 0.365	 (B)	 36.5

	 (C)	 200	 (D)	 100

	 34.	 VmOm ~Zm`m hþAm SnO2 H$m Adjon _| WmoS>r _mÌm 
_| NaOH {_bmZo go BgH$m noßQ>rH$aU hmo OmVm h¡ & 
H$mobmBSb> {db`Z H$m gyÌ hmoJm 

	 (A)	 [SnO2]Sn4+ : O2 
–2	

	 (B)	 [SnO2]SnO3
2– : 2 Na+

	 (C)	 [SnO2] Na+ : OH
– 

	 (D)	 [SnO2] Sn4+ : OH
– 

	 35.	 {ZåZ _| go H$m¡Z-gm {S>Q>O}ÝQ> Zhr§ h¡  ?

	 (A)	 gmo{S>`_ bmD$[ab gë\o$Q>

	 (B)	 gmo{S>`_ ñQ>r`aoQ>

	 (C)	 gmo{S>`_ S>moS>o{gb ~oÝOrZ gë\$moZoQ>

	 (D)	 gmo{S>`_ bmD$[ab ~oÝOrZ gë\$moZoQ>
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	 36.	 Degree of unsaturated of a fat can be 
determined by means of its

	 (A)	 Iodine Number
	 (B)	 Saponification Number
	 (C)	 Aniline Point
	 (D)	 Octane Number

	 37.	 An organic compound of C, H, N 
contains the three elements in the ratio 
9 : 1 : 3.5 respectively. What is the M.F. 
if its M.wt. is 108 ?

	 (A)	 C6H8N2	 (B)	 C6H15N

	 (C)	 C6H13N	 (D)	 C6H16N2

	 38.	 0.20 g of an anhydrous dibasic acid gave 
on combustion 0.04 g H2O 0.195 g CO2. 
What is the str. formula of acid ?

	 (A)	 Fumaric acid	(B)	 Maleic acid
	 (C)	 Malonic acid	(D)	 Oxalic acid

	 39.	 10 g of MnO2 on reaction with  
conc. HCl liberated 0.1 equivalent of 
Cl2. What is % purity of MnO2 ?

	 (A)	 25.5%	 (B)	 43.5%
	 (C)	 65%	 (D)	 21.5%

	 40.	 0.1092 g of dibasic acid is exactly 
neutralised by 21 ml N/10 NaOH. The 
M.wt. of acid is

	 (A)	 156	 (B)	 52
	 (C)	 104	 (D)	 208

	 36.	 dgm _| Ag§V¥ßVm H$s {S>J«r {H$g {d{Y go kmV  
H$aVo h¡§ ?

	 (A)	 Am`moS>rZ Zå~a
	 (B)	 gonmoZrH$aU Zå~a
	 (C)	 EZrbrZ nmBÝQ>
	 (D)	 AmŠQ>oZ Zå~a

	 37.	 H$m~©{ZH$ `m¡{JH$ _| C, H, N Ho$ VrZ VËd H$m 
AZwnmV H«$_e: 9 : 1 : 3.5 h¡ & `{X BgH$m AUw 
^ma 108 hmo, Vmo BgH$m AUw gyÌ hmoJm 

	 (A)	 C6H8N2	 (B)	 C6H15N

	 (C)	 C6H13N	 (D)	 C6H16N2

	 38.	 0.20 g {ZO©b {Ûjmar` Aåb ObmZo na  
0.04 g H2O Ed§ 0.195 g CO2 XoVr h¡ & 
Aåb H$m gyÌ h¡ 

	 (A)	 â`y_o[aH$ Aåb	 (B)	 _¡{bH$ Aåb

	 (C)	 _¡bmo{ZH$ Aåb	 (D)	 AmŠgm{bH$ Aåb

	 39.	 10 J«m_ MnO2 H$mo HCl(gm§Ð) Ho$ gmW {H«$`m 
H$amZo na 0.1 g_Vwë` Cl2 àmßV hmoVr h¡ & MnO2 

H$s % ewÕVm hmoJr 
	 (A)	 25.5%	 (B)	 43.5%
	 (C)	 65%	 (D)	 21.5%

	 40.	 0.1092 g  {Ûjmar` Aåb H$mo CXmgrZ H$aZo Ho$ 
{bE 21 ml N/10 NaOH bJVo h§¡, Vmo Aåb 
H$m AUw ^ma hmoJm 

	 (A)	 156	 (B)	 52
	 (C)	 104	 (D)	 208
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	 41.	 Which of the following is not a measure 
of dispersion ?

	 (A)	 Mode

	 (B)	 Mean deviation

	 (C)	 Variance

	 (D)	 Standard deviation

	 42.	 If x and y are two independent variables 
such that –x = 5, –y = 10, σx

2 = 4,  
σy

2 = 9 and if u = 3x + 4y, v = 3x – y, then  
cov(u, v) =

	 (A)	 1	 (B)	 0

	 (C)	
1
3

	 (D)	 None of these

	 43.	
1
2

2
3

3
4

2 3 4x x x+ + + =...

	 (A)	 −
+

+ +( )x
x

x
1

1log

	 (B)	
x

x
x

1
1

+
+ +( )log

	 (C)	
x

x
x

1
1

−
+ −( )log

	 (D)	 None of these

	 44.	 x
x

x

x

x

x

−
+

+ −
+( )

+ −
+( )

+1
1

1
2

1

1

1
3

1

1

2

2

3

3 ...  

		  to ∞ =

	 (A)	 log x	 (B)	 2 log x

	 (C)	 –log (x + 1)	 (D)	 None of these

	 41.	 {ZåZ _| go H$m¡Z-gm EH$ àH$sU©Z H$m _mn Zht h¡ ?

	 (A)	 ~hþbH$

	 (B)	 _mÜ` {dMbZ

	 (C)	 àgaU

	 (D)	 _mZH$ {dMbZ

	 42.	 `{X x VWm y Xmo ñdV§Ì Ma Bg àH$ma hm| {H$  
–x = 5, –y = 10, σx

2 = 4, σy
2 = 9 VWm `{X  

u = 3x + 4y, v = 3x – y, V~ cov(u, v) =

	 (A)	 1	 (B)	 0

	 (C)	
1
3

	 (D)	 BZ_| go H$moB© Zht

	 43.	
1
2

2
3

3
4

2 3 4x x x+ + + =...

	 (A)	 −
+

+ +( )x
x

x
1

1log

	 (B)	
x

x
x

1
1

+
+ +( )log

	 (C)	
x

x
x

1
1

−
+ −( )log

	 (D)	 BZ_| go H$moB© Zht

	 44.	 x
x

x

x

x

x

−
+

+ −
+( )

+ −
+( )

+1
1

1
2

1

1

1
3

1

1

2

2

3

3 ...  

		  ∞ VH$ =

	 (A)	 log x	 (B)	 2 log x

	 (C)	 –log (x + 1)	 (D)	 BZ_| go H$moB© Zht
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	 45.	 If sinθ + cosθ = 3  sinθ, then  
2sinθ – cosθ =

	 (A)	 3  sinθ

	 (B)	 3  cosθ

	 (C)	 3 1+( )  sinθ

	 (D)	 None of these

	 46.	
sin
sin

cos
cos

2

2

2

2

3 3A
A

A
A

− =

	 (A)	 8 cos 2A	 (B)	
1
8

cos 2A

	 (C)	 cos 2A	 (D)	 None of these

	 47.	 An A.P. consists of 51 terms and its 
middle term is 40, then the sum of the 
A.P. is

	 (A)	 1020	 (B)	 2040

	 (C)	 4080	 (D)	 None of these

	 48.	 The sum of all natural numbers less 
than 500 which are neither divisible by 
2 nor by 5 is

	 (A)	 5,00,000	

	 (B)	 2,00,000

	 (C)	 50,000	

	 (D)	 None of these

	 45.	 `{X sinθ + cosθ = 3  sinθ, V~  
2sinθ – cosθ =

	 (A)	 3  sinθ

	 (B)	 3  cosθ

	 (C)	 3 1+( )  sinθ

	 (D)	 BZ_| go H$moB© Zht

	 46.	
sin
sin

cos
cos

2

2

2

2

3 3A
A

A
A

− =

	 (A)	 8 cos 2A	 (B)	
1
8

cos 2A

	 (C)	 cos 2A	 (D)	 BZ_| go H$moB© Zht

	 47.	 EH$ g.lo. _| 51 nX h¢ VWm BgH$m _Ü` nX  
40 h¡, V~ g.lo. H$m `moJ h¡

	 (A)	 1020	 (B)	 2040

	 (C)	 4080	 (D)	 BZ_| go H$moB© Zht

	 48.	 500 go H$_ d¡go g^r àmH¥${VH$ g§»`mAm| H$m `moJ 
Omo Z Vmo 2 go Am¡a Z hr 5 go {d^mÁ` h¢, h¡

	 (A)	 5,00,000	

	 (B)	 2,00,000

	 (C)	 50,000	

	 (D)	 BZ_| go H$moB© Zht
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	 49.	 If cos5θ = acosθ + bcos3θ +  
ccos5θ + d, then

	 (A)	 a + b + c = 2

	 (B)	 a = 20

	 (C)	 a + b + c + d = 1

	 (D)	 None of these

	 50.	 The A.M. of a set of 40 numbers is 35. 
If two numbers 72 and 74 are removed, 
then the mean of the remaining 
numbers is

	 (A)	 30	

	 (B)	 33

	 (C)	 32.5	

	 (D)	 None of these

	 51.	 If (1 – m) (1 + 2x + 4x2 + 8x3 + 16x4  
+ 32x5 + 64x6 + 128x7) = 1 – m8, m ≠ 1, 
then m

x
 =

	 (A)	
1
2

	 (B)	 2

	 (C)	
1
4

	 (D)	 1

	 52.	 If a1, a2,... are in G.P. such that 

		
a
a

4

8

1
16

=  and a5 + a9 = 262, then a1 =

	 (A)	 1	 (B)	 2
	 (C)	 –2	 (D)	 None of these

	 49.	 `{X cos5θ = acosθ + bcos3θ +  
ccos5θ + d, V~

	 (A)	 a + b + c = 2

	 (B)	 a = 20

	 (C)	 a + b + c + d = 1

	 (D)	 BZ_| go H$moB© Zht

	 50.	 40 g§»`mAm| H$m g._m. 35 h¡ & `{X Xmo g§»`mE± 
72 VWm 74 hQ>m Xr OmVr h¢, V~ ~Mr hþB© g§»`mAm| 
H$m _mÜ` h¡

	 (A)	 30	

	 (B)	 33

	 (C)	 32.5	

	 (D)	 BZ_| go H$moB© Zht

	 51.	 `{X (1 – m) (1 + 2x + 4x2 + 8x3 + 16x4 
+ 32x5 + 64x6 + 128x7) = 1 – m8, m ≠ 1, 
V~ m

x
 =

	 (A)	
1
2

	 (B)	 2

	 (C)	
1
4

	 (D)	 1

	 52.	 `{X a1, a2,... Jw.lo. _| Bg àH$ma h¢ {H$ 
a
a

4

8

1
16

=
VWm a5 + a9 = 262, V~ a1 =

	 (A)	 1	 (B)	 2

	 (C)	 –2	 (D)	 BZ_| go H$moB© Zht
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	 53.	 If S1, S2 and S3 are sum of n, 2n and 3n 
terms respectively of an A.P., then

	 (A)	 3(S2 – S1) = S3

	 (B)	 S1 + S2 = S3

	 (C)	 3S2 – S1 = S3

	 (D)	 None of these

	 54.	 If a, b, c are in A.P.; a, 7b, c are in G.P., 
then a, 49b, c are in

	 (A)	 A.P.	 (B)	 G.P.

	 (C)	 H.P.	 (D)	 None of these

	 55.	 cos190°.cos210°.cos230°.cos110° =

	 (A)	
1

16 	

	 (B)	
3

16

	 (C)	 − 9
16

	

	 (D)	 None of these

	 56.	 cos2θ + 2cosθ is always

	 (A)	 ≥ − 3
2 	

	 (B)	 ≤ 3
2

	 (C)	 > − 3
2

	

	 (D)	 = 3
2

	 53.	 `{X S1, S2 VWm S3 EH$ g.lo. Ho$ H«$_e: n, 2n 
VWm 3n nXm| Ho$ `moJ h¢, V~

	 (A)	 3(S2 – S1) = S3

	 (B)	 S1 + S2 = S3

	 (C)	 3S2 – S1 = S3

	 (D)	 BZ_| go H$moB© Zht

	 54.	 `{X a, b, c g.lo. _| h¢; a, 7b, c Jw.lo. _| h¢, 
V~ a, 49b, c h¢

	 (A)	 g.lo. _|	 (B)	 Jw.lo. _|

	 (C)	 h.lo. _|	 (D)	 BZ_| go H$moB© Zht

	 55.	 cos190°.cos210°.cos230°.cos110° =

	 (A)	
1

16 	

	 (B)	
3

16

	 (C)	 − 9
16

	

	 (D)	 BZ_| go H$moB© Zht

	 56.	 cos2θ + 2cosθ gX¡d h¡

	 (A)	 ≥ − 3
2 	

	 (B)	 ≤ 3
2

	 (C)	 > − 3
2

	 (D)	 = 3
2
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	 57.	 1
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	 (A)	
1
2

3e

	 (B)	
1
2

3e−

	 (C)	
1
2

3 3e e+( )−

	 (D)	
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2

3 3e e−( )−

	 58.	 1
2

3
2

1
4

5
3

1
8

7
4

1
16

+ + + +. . .  

		
9
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1
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	 (A)	 –2 log 2	 (B)	 2 + log 2

	 (C)	 –2 + log 2	 (D)	 2 – log 2

	 59.	 The minimum value of sin6θ + cos6θ is

	 (A)	 0	 (B)	 1

	 (C)	
1
4

	 (D)	 None of these

	 60.	 If sin (A + C) = 2 sin A sin C cot B, then 
cot A, cot B, cot C are in

	 (A)	 A.P.	 (B)	 G.P.

	 (C)	 H.P.	 (D)	 None of these

	 57.	 1
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	 (A)	
1
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3e

	 (B)	
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	 (C)	
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	 (D)	
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	 (A)	 –2 log 2	 (B)	 2 + log 2

	 (C)	 –2 + log 2	 (D)	 2 – log 2

	 59.	 sin6θ + cos6θ H$m Ý`yZV_ _mZ h¡

	 (A)	 0	 (B)	 1

	 (C)	
1
4

	 (D)	 BZ_| go H$moB© Zht

	 60.	 `{X sin (A + C) = 2 sin A sin C cot B, 
V~ cot A, cot B, cot C h¢

	 (A)	 g.lo. _|	 (B)	 Jw.lo. _|

	 (C)	 h.lo. _|	 (D)	 BZ_| go H$moB© Zht
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	 61.	 Evolution of CO2 is more than the 
intake of O2 when		

	 (A)	 Glucose is respired

	 (B)	 Sucrose is respired

	 (C)	 Organic acids are respired

	 (D)	 Fats are respired

	 62.	 Growth regulator that retards ageing 
of plant is		

	 (A)	 Cytokinin	

	 (B)	 Auxin

	 (C)	 ABA	

	 (D)	 GA3

	 63.	 Golden rice is rich in		

	 (A)	 Beta carotene

	 (B)	 Vitamin C

	 (C)	 Protein

	 (D)	 Antioxidant

	 64.	 A mating is expected to produce 50% 
heterozygotes and homozygotes is

	 (A)	 BB × Bb

	 (B)	 Bb × Bb

	 (C)	 Both (A) and (B)

	 (D)	 bb × bb

	 61.	 CO2 H$m {d_moMZ, O2 Ho$ AdemofU H$s VwbZm _| 
A{YH$ hmoVm h¡, O~

	 (A)	 ½byH$moO H$m ídgZ hmoVm h¡

	 (B)	 gyH«$moO H$m ídgZ hmoVm h¡

	 (C)	 H$m~©{ZH$ Aåbm| H$m ídgZ hmoVm h¡

	 (D)	 dgm H$m ídgZ hmoVm h¡ 

	 62.	 d¥{Õ {Z`m_H$ Omo {H$ nm¡Ym| _| Or{U©Vm H$mo H$_  
H$aVm h¡ 

	 (A)	 gmBQ>moH$mB{ZZ	

	 (B)	 Am°pŠOZ

	 (C)	 ABA	

	 (D)	 GA3

	 63.	 JmoëS>oZ Mmdb {H$ggo ^anya hmoVm h¡ ?

	 (A)	 ~rQ>m H¡$amoQ>rZ

	 (B)	 {dQ>m{_Z C

	 (C)	 àmoQ>rZ

	 (D)	 EÊQ>rAm°ŠgrS>oÝQ>

	 64.	 EH$ g_mJ_ go 50% {df_`w½_O Am¡a g_`w½_O 
CËnÞ hmoZo H$s g§^mdZm ahVr h¡

	 (A)	 BB × Bb

	 (B)	 Bb × Bb

	 (C)	 (A) Am¡a (B) XmoZm| 

	 (D)	 bb × bb
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	 65.	 Which of the following is not a 
characteristic feature of the anatomy 
of dicotyledon root ?		

	 (A)	 Radial vascular bundles

	 (B)	 Secondary growth

	 (C)	 Pith little or absent

	 (D)	 15-20 vascular bundles

	 66.	 Mesophyll is well differentiated into 
palisade and spongy parenchyma in

	 (A)	 Dicot leaves

	 (B)	 Monocot leaves

	 (C)	 Xerophytic stem

	 (D)	 Hydrophytic stem

	 67.	 Mendel’s principle of segregation 
means that the germ cells always 
receive		

	 (A)	 One pair of allele

	 (B)	 One quarter of the gene

	 (C)	 One of the paired allele

	 (D)	 Any pair of allele

	 68.	 Stomatal closure in response to leaf 
stress is mediated by		

	 (A)	 IAA	

	 (B)	 IBA

	 (C)	 ABA	

	 (D)	 2, 4-D

	 65.	 {ZåZ{b{IV _| go H$m¡Z-gm {Û~rOnÌr O‹S>m| H$s 
emar[aH$s H$m bjU Zht h¡ ?

	 (A)	 Aar` g§dhZ nyb

	 (B)	 {ÛVr`H$ d¥{Õ

	 (C)	 _ÁOm H$_ AWdm AZwnpñWV

	 (D)	 15 go 20 g§dhZ nyb

	 66.	 nU©_Ü`moVH$, Iå^ D$VH$ VWm ñn§Or n¡aoZH$m`_m 
_| {d^o{XV hmoVm h¡ 

	 (A)	 {Û~rOnÌr n{Îm`m| _|

	 (B)	 EH$~rOnÌr n{Îm`m| _|

	 (C)	 _éX²{^X² VZo _|

	 (D)	 ObmoX²{^X² VZo _|

	 67.	 _oÊS>ob Ho$ n¥WŠH$aU Ho$ {gÕmÝV H$m AW© h¡ {H$ OZZ 
H$mo{eH$mE± h_oem àmßV  H$aVr h¡

	 (A)	 EH$ Omo‹S>r Ebrb

	 (B)	 EH$ Mm¡WmB© OrZ

	 (C)	 `wp½_V Ebrb _| go EH$

	 (D)	 Ebrb H$m H$moB© ^r Omo‹S>m

	 68.	 nÎmr _| à{V~b Ho$ H$maU aÝY«m| H$m ~ÝX hmoZm {Z^©a 
H$aVm  h¡

	 (A)	 IAA	

	 (B)	 IBA

	 (C)	 ABA	

	 (D)	 2, 4-D
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	 69.	 Inflorescence and fruit of sunflower is

	 (A)	 Capitulum and Achene

	 (B)	 Corymb and Cypsella

	 (C)	 Capitulum and Cypsella

	 (D)	 Corymb and Achene

	 70.	 Tricarpellary, syncarpous, unilocular, 
inferior ovary with intruding placentae 
is found in		

	 (A)	 Liliaceae

	 (B)	 Cucurbitaceae

	 (C)	 Ceasalpiniaceae

	 (D)	 Solanaceae

	 71.	 Primary roots and its branches 
constitute		

	 (A)	 Fibrous roots

	 (B)	 Adventitious root system

	 (C)	 Tap root system

	 (D)	 Seminal roots

	 72.	 The floral formula of the family 
Cruciferae is		

	 (A)	 ⊕, O+
 , K(5), C(5), A5, G 2( )

	 (B)	 ⊕, O+
 , K3+3 or (3+3), A3+3, G 3( )

	

	 (C)	 ⊕, O+
 , K2+2, C(5), A2+4, G 2( )

 	 (D)	 ⊕, O+
 , K2+2, C4(x), A2+4, G 2( )

	 69.	 gy`©_wIr H$m nwînH«$_ Ed§ \$b h¡
	 (A)	 _wÊS>H$ Ed§ EH$sZ

	 (B)	 H$mo[aå~ Ed§ {gngobm

	 (C)	 _wÊS>H$ Ed§ {gngobm

	 (D)	 H$mo[aå~ Ed§ EH$sZ

	 70.	 ÌrAÊS>nr, `wŠVmÊS>nr, EH$H$moîR>r`, AYmodVu 
AÊS>me` {Og_| ~rOmÊS>Ý`mg Y±gm hþAm hmoVm h¡, 
nm`m OmVm h¡ 

	 (A)	 {b{bEgr

	 (B)	 Hw$Hw$a{~Q>ogr

	 (C)	 goOb{n{ZEgr

	 (D)	 gmoboZogr

	 71.	 àmW{_H$ O‹S>| Ed§ CgH$s emImE± ~ZmVr h¢ 

	 (A)	 aoeoXma O‹S>o§

	 (B)	 AnñWm{ZH$ O‹S> V§Ì

	 (C)	 _ygbm O‹S> V§Ì

	 (D)	 go{_Zb O‹S>|

	 72.	 H«y$gr\o$ar Hw$b H$m nwîn gyÌ h¡ 

	 (A)	 ⊕, O+
 , K(5), C(5), A5, G 2( )

	 (B)	 ⊕, O+
 ,K3+3 or (3+3), A3+3, G 3( )

	

	 (C)	 ⊕, O+
 , K2+2, C(5), A2+4, G 2( )

 	 (D)	 ⊕, O+
 , K2+2, C4(x), A2+4, G 2( )
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	 73.	 The clitellum of earthworm is concerned 
with		

	 (A)	 Copulation

	 (B)	 Cocoon formation

	 (C)	 Storage of sperm

	 (D)	 Release of sperm from male 
genital pore

	 74.	 Honey is		

	 (A)	 Nectar of flower

	 (B)	 Nectar stored in honey sac

	 (C)	 Nectar mixed with saliva and 
stored in honey sac

	 (D)	 Nectar and water sucked by the 
honey bee

	 75.	 Male and female cockroach can be 
identified by	

	 (A)	 Anal cerci

	 (B)	 Anal styles

	 (C)	 Antennae

	 (D)	 Compound eyes

	 76.	 Hair occur in all mammals except  
those of		

	 (A)	 Rodentia	
	 (B)	 Chiroptera
	 (C)	 Primata		
	 (D)	 Cetacea

	 73.	 H|$MwE± H$m ŠbmBQ>ob_ g§~§{YV h¡

	 (A)	 H$mnyboeZ

	 (B)	 H$Hy$Z ~ZmZm

	 (C)	 ñn_© g§J«h>U

	 (D)	 Za OZZ {N>Ð go ñn_© H$m [abrO

	 74.	 ehX h¡

	 (A)	 \y$bm| H$m ZoŠQ>a

	 (B)	 ehX W¡br _| g§J«{hV ZoŠQ>a

	 (C)	 bma {_{lV ZoŠQ>a 	Omo ehX W¡br _| g§J«{hV

	 (D)	 _Yw_ŠIr Ûmam Mygm J`m ZoŠQ>a d nmZr

	 75.	 Za d _mXm H$m°H$amoM H$mo nhMmZm Om gH$Vm h¡

	 (A)	 EZb ga{g

	 (B)	 EZb ñQ>mBb

	 (C)	 EÝQ>rZr

	 (D)	 H$ånmCÊS>> AmB©

	 76.	 g^r ñVZYm[a`m| _| ~mb nm`o OmVo h¢¡ Ho$db 
__________ H$mo N>mo‹S>H$a &

	 (A)	 amoS>opÝe`m	
	 (B)	 H$m`amoßQ>oam
	 (C)	 àmB_oQ>m
	 (D)	 grQ>o{e`m
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	 77.	 Mode of respiration in earthworm is

	 (A)	 Cutaneous	

	 (B)	 Gills

	 (C)	 Pulmonary

	 (D)	 Subcutaneous

	 78.	 Munga silk is produced by		

	 (A)	 Anthreaea assamensis

	 (B)	 Anthreaea mylitta

	 (C)	 Anthreaea pernyl

	 (D)	 Anthreaea roylei

	 79.	 Jelly fish belongs to class		

	 (A)	 Hydrozoa	

	 (B)	 Scyphozoa

	 (C)	 Anthozoa	

	 (D)	 None of these

	 80.	 The mouth parts of grasshopper are

	 (A)	 Chewing type

	 (B)	 Sucking type

	 (C)	 Biting type

	 (D)	 None of these

	 77.	 H|$MwAm {H$g àH$ma H$m ídgZ H$aVm h¡ ?

	 (A)	 Š`yQ>o{Z`g

	 (B)	 {Jëg

	 (C)	 në_moZar	

	 (D)	 g~Š`yQ>o{Z`g

	 78.	 _y§Jm {gëH$ CËnÝZ {H$`m OmVm h¢

	 (A)	 EÝW«o{g`m Ego_opÝgg

	 (B)	 EÝW«o{g`m _m`{bQ²>Q>m

	 (C)	 EÝW«o{g`m na{Zb

	 (D)	 EÝW«o{g`m am`br

	 79.	 Oobr {\$e {H$g Šbmg _| AmVr h¡ ?

	 (A)	 hm`S´>moOmoAm	

	 (B)	 ñH$mB\$moOmoAm

	 (C)	 EÝWmoOmoAm	

	 (D)	 BZ_| go H$moB© Zht

	 80.	 J«mghm°na Ho$ _wIm§J h¡

	 (A)	 MrqdJ Q>mBn

	 (B)	 gqH$J Q>mBn

	 (C)	 ~mBqQ>J Q>mBn

	 (D)	 BZ_| go H$moB© Zht
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Crop Production and Horticulture

	 81.	 In which type of soil Kharif and Rabi 
both crops can be grown ?

	 (A)	 Sandy

	 (B)	 Kanhar (Clay)

	 (C)	 Red loam soil

	 (D)	 Red yellow soil

	 82.	 Hoe is used for 

	 (A)	 Remove weeds

	 (B)	 Clean soil

	 (C)	 Harvesting root crops

	 (D)	 All of the above

	 83.	 Year round tillage is type of 

	 (A)	 Primary tillage

	 (B)	 Secondary tillage

	 (C)	 Zero tillage

	 (D)	 All of the above

	 84.	 What is the seed rate of hybrid rice 
varieties in India ?

	 (A)	 9 kg/acre	

	 (B)	 6 kg/acre

	 (C)	 15 kg/acre	

	 (D)	 8 kg/acre

\$gb CËnmXZ Ed§ CÚm{ZH$s

	 81.	 {H$g àH$ma H$s _¥¥Xm _| Iar\$ Ed§ a~r XmoZm| àH$ma 
H$s \$gbm| H$s n¡Xmdma hmo gH$Vr h¡ ?

	 (A)	 ~bwB©

	 (B)	 H$Ýhma ({MH$Zr)

	 (C)	 bmb Xmo_Q> _¥¥Xm	

	 (D)	 bmb nrbr _¥¥Xm

	 82.	 Iwanr H$m à`moJ H$aVo h¢

	 (A)	 IanVdma {ZH$mbZo _|

	 (B)	 _¥¥Xm g\$mB© _|

	 (C)	 ê$Q> \$gb H$Q>mB© _|

	 (D)	 CnamoŠV g^r

	 83.	 gmb ^a Q>rboO àH$ma hmoVm h¡ 

	 (A)	 àmW{_H$ Q>rboO

	 (B)	 {ÛVr`H$ Q>rboO

	 (C)	 Oramo Q>rboO

	 (D)	 CnamoŠV g^r

	 84.	 ^maV _| g§H$a YmZ àOm{V`m| _| ~rO Xa Š`m  
hmoVr h¡ ?

	 (A)	 9 {H$.J«m./EH$‹S>	

	 (B)	 6 {H$.J«m./EH$‹S>

	 (C)	 15 {H$.J«m./EH$‹S>	

	 (D)	 8 {H$.J«m./EH$‹S>
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	 85.	 Which rice variety gets geographical 
indication status in Chhattisgarh ?

	 (A)	 Dubraj	 (B)	 Chinnor
	 (C)	 Kalanamak	 (D)	 Jeera phool

	 86.	 Which is the most efficient system in 
crop irrigation ?

	 (A)	 Drip irrigation
	 (B)	 Sprinkler irrigation
	 (C)	 Solar pump	
	 (D)	 Irrigation through canal

	 87.	 Cultivation of legumes and grasses are 
examples of

	 (A)	 Green manure	

	 (B)	 Crop rotation

	 (C)	 Multiple cropping

	 (D)	 Transplantation

	 88.	 Coating urea with which of the following 
has been found to increase the yield of 
crops ?

	 (A)	 Lime	 (B)	 Ash
	 (C)	 Neem oil	 (D)	 Eucalyptus oil

	 89.	 Which of the following is not a 
nitrogenous fertilizer ?

	 (A)	 KCl	
	 (B)	 CACN2

	 (C)	 NH4NO3	
	 (D)	 Urea

	 85.	 YmZ H$s H$m¡Z-gr àOm{V H$mo N>ÎmrgJ‹T> _| 
{OAmoJ«m{\$H$b B§{S>Ho$eZ {_bm h¡ ?

	 (A)	 Xþ~amO	 (B)	 {MÝZm¡a
	 (C)	 H$mbmZ_H$	 (D)	 Oram \y$b

	 86.	 \$gb _| qgMmB© H$m g~go Xj àH$ma H$m¡Z-gm h¡ ?

	 (A)	 {S´>n {g§MmB©
	 (B)	 pñà§H$ba {g§MmB©
	 (C)	 gmoba nån

	 (D)	 Ho$Zmb Ho$ Ûmam qgMmB©

	 87.	 XbhVr \$gb Ed§ Kmg H$s IoVr H$m CXmhaU h¡

	 (A)	 h[aV ImX

	 (B)	 \$gb MH«$
	 (C)	 ~hþ \$gbr nÕ{V

	 (D)	 amonmB©

	 88.	 \$gbm| H$s CnO ~‹S>mZo Ho$ {b`o `y[a`m H$mo H$moqQ>J 
{H$ggo H$s OmVr h¡ ?

	 (A)	 MyZm	 (B)	 amI
	 (C)	 Zr_ Vob	 (D)	 `yHo${bßQg Vob

	 89.	 BZ_o§ go H$m¡Z-gr ImX (Cd©aH$) ZmBQ´>moOZ `wŠV 
		  ImX Zht h¡ ?
	 (A)	 Ho$.gr.Eb. (KCl)	
	 (B)	 gr.E.gr.EZ2.(CACN2)
	 (C)	 EZ.EM4. EZ. Amo3. (NH4NO3)

	 (D)	 `y[a`m
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	 90.	 Which one is post emergence 
weedicide of rice ?

	 (A)	 Butachlor

	 (B)	 Pendimethalin

	 (C)	 Pyrazo Sulfuron Ethyl

	 (D)	 Bispyribac Sodium

	 91.	 Glyphosate is used for control of 		
following weeds.

	 (A)	 Narrow leaf weeds

	 (B)	 Broad leaf weeds

	 (C)	 Both of them narrow and 
		  broad leaf

	 (D)	 None of them

	 92.	 The practice of growing two or more 
different types of crops in the same 
field at the same time is called

	 (A)	 Crop rotation

	 (B)	 Monoculture

	 (C)	 Mixed cropping

	 (D)	 Field fallow

	 93.	 Agriculture is 

	 (A)	 Primary Activity

	 (B)	 Secondary Activity

	 (C)	 Tertiary Activity

	 (D)	 None of the above

	 90.	 BZ_| go H$m¡Z-gm YmZ H$m nmoñQ> B_aOoÝg IanVdma 
Zmer h¡ ?

	 (A)	 ã`yQ>mŠbmoa

	 (B)	 noÝS>r{_{WbrZ

	 (C)	 nm`aoOmo gb²â`yamZ BWmBb

	 (D)	 {~gnm`ar~oH$ gmo{S>`_

	 91.	 ½bmB\$mogoQ> {H$g àH$ma Ho$ IanVdma H$mo {Z`§{ÌV 
H$aZo _| Cn`moJ {H$`m OmVm h¡ ?

	 (A)	 g§H$ar nÎmr dmbo IanVdma

	 (B)	 Mm¡S>r nÎmr dmbo IanVdma

	 (C)	 XmoZm| àH$ma Ho$ IanVdma g§H$ar Ed§ Mm¡S>r 
nÎmr

	 (D)	 BZ_| go H$moB© Zht

	 92.	 Xmo `m Á`mXm AbJ àH$ma H$s \$gbm§o H$mo EH$ IoV 
_| gmW _| bJmZo H$s à{H«$`m H$mo H$hVo h¡§

	 (A)	 \$gb MH«$

	 (B)	 EH$b \$gb

	 (C)	 {_{lV \$gb

	 (D)	 \$sëS> \o$bmo

	 93.	 H¥${f EH$

	 (A)	 àm`_ar EpŠQ>{d{Q> (àmW{_H$ J{V{d{Y)

	 (B)	 goHo$ÝS>ar EpŠQ>{d{Q> ({ÛVr`H$ J{V{d{Y)

	 (C)	 Q>a²ear EpŠQ>{d{Q> (V¥Vr`H$ J{V{d{Y)

	 (D)	 CnamoŠV _| go H$moB© Zht
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	 94.	 In India, agricultural census is 		
conducted every

	 (A)	 1.2 years	

	 (B)	 2.5 years

	 (C)	 3 years	

	 (D)	 5 years

	 95.	 Farming system is 

	 (A)	 Cropping system

	 (B)	 Cropping pattern

	 (C)	 Organic farming

	 (D)	 All agricultural inputs and 		
commodities

	 96.	 What is correct about the solar 		
pumps ?	

	 (A)	 Solar pump do not require any fuel 
or electricity to operate

	 (B)	 Does not get affected by power 
cuts, low voltage

	 (C)	 Can be installed in remote areas

	 (D)	 All of the above

	 97.	 The duty is largest

	 (A)	 At the head of water coarse

	 (B)	 On the field

	 (C)	 At the head of a main canal

	 (D)	 Same at all places

	 94.	 ^maVdf© _| H¥${f goÝgg (JUZm) {H$VZo dfm] _| H$s 
OmVr h¡ ?

	 (A)	 1.2 df©	

	 (B)	 2.5 df©

	 (C)	 3 df©	

	 (D)	 5 df©

	 95.	 H¥${f V§Ì H$hbmVm h¡

	 (A)	 \$gb V§Ì

	 (B)	 \$gb nÕ{V

	 (C)	 O¡{dH$ IoVr

	 (D)	 g^r H¥${f AmXmZ Ed§ Cn`moJr dñVw

	 96.	 gmoba nån Ho$ ~mao _| ghr Š`m h¡ ?

	 (A)	 gmoba nån _| H$moB© ^r BªYZ, {~Obr Zht 
bJVr h¡ 

	 (B)	 nmda H$Q>, H$_ dmoëQ>oO go à^md a{hV  
hmoVm h¡ 

	 (C)	 XyañW A§Mb _| ñWm{nV {H$`m Om gH$Vm h¡ 

	 (D)	 CnamoŠV g^r 

	 97.	 S>çyQ>r g~go ~‹S>r

	 (A)	 nmZr Ho$ _moQ>o {gao na hmoVr h¡

	 (B)	 IoV _| hmoVr h¡

	 (C)	 _¡Z Ho$Zmb Ho$ erf© na hmoVr h¡

	 (D)	 g^r ñWmZm| na g_mZ hmoVr h¡
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	 98.	 Which of the following has maximum 
water application efficiency ?

	 (A)	 Surface irrigation

	 (B)	 Lift irrigation

	 (C)	 Sprinkler irrigation

	 (D)	 Furrow irrigation

	 99.	 What is GDP of India in horticulture ?

	 (A)	 17.7%	

	 (B)	 32%

	 (C)	 13.5%	

	 (D)	 25%

	100.	 What kind of soil is treated with gypsum 
to make it suitable for cropping ?

	 (A)	 Aluvial soil

	 (B)	 Acidic

	 (C)	 Water-logged soil	

	 (D)	 Soil with excessive clay content

	101.	 Which type of soil is found most in 
Chhattisgarh ?

	 (A)	 Red yellow soil

	 (B)	 Red sandy soil

	 (C)	 Red loam soil

	 (D)	 Black soil

	 98.	 BZ_| go {H$g_| A{YH$V_ Ob AZwà`moJ j_Vm 
hmoVr h¡ ?

	 (A)	 ga\o$g qgMmB©

	 (B)	 {bâQ> qgMmB©

	 (C)	 pñà¨H$ba qgMmB©	

	 (D)	 \$amo qgMmB©

	 99.	 CÚm{ZH$s H$m ̂ maV Ho$ gH$b Kaoby CËnmX _| {H$VZm 
`moJXmZ h¢ ?

	 (A)	 17.7 à{VeV	

	 (B)	 32 à{VeV

	 (C)	 13.5 à{VeV	

	 (D)	 25 à{VeV

	100.	 {H$g àH$ma H$s {_Å>r H$mo {Oßg_ go CnMm[aV H$a 
IoVr `mo½` {H$`m OmVm h¡ ?

	 (A)	 H$N>mar ^y{_

	 (B)	 Aåbr`

	 (C)	 nmZr ^amd dmbr ^y{_	

	 (D)	 A{YH$ {MH$Zr {_Å>r `wŠV ^y{_

	101.	 N>ÎmrgJ‹T> _| {H$g Vah H$s _¥¥Xm gdm©{YH$ nm`r 	
OmVr h¡ ?

	 (A)	 bmb nrbr _¥¥Xm

	 (B)	 bmb ~bwB© _¥¥Xm

	 (C)	 bmb Xmo_Q> _¥¥Xm

	 (D)	 H$mbr {_Å>r
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	102.	 Cono weeder is recently used  
much 	in which crop ?

	 (A)	 Rice	

	 (B)	 Wheat

	 (C)	 Groundnut

	 (D)	 Soyabean

	103.	 Tractor drawn implement has 

	 (A)	 Higher speed and higher working 
capacity

	 (B)	 Higher speed and lower working 
capacity

	 (C)	 Lower speed and lower working 
capacity

	 (D)	 Lower speed and higher working 
capacity

	104.	 The process of separation of grain from 
a mixture of grain and cheff is 

	 (A)	 Cleaning	

	 (B)	 Winnowing
	 (C)	 Separation	

	 (D)	 Grading

	105.	 The type of agriculture practiced in 
India is 

	 (A)	 Intensive farming

	 (B)	 Extensive farming

	 (C)	 Primitive farming

	 (D)	 Mixed farming

	102.	 dV©_mZ _| H$moZmo drS>a {H$g \$gb _| Á`mXm Cn`moJ 
{H$`m Om ahm h¡ ?

	 (A)	 Mmdb	

	 (B)	 Johÿ±

	 (C)	 _y±J\$br	

	 (D)	 gmo`m~rZ

	103.	 Q´>oŠQ>a M{bV `§Ì _|

	 (A)	 Á`mXm J{V Ed§ Á`mXm H$m`© j_Vm hmoVr h¡ 

	 (B)	 Á`mXm J{V Ed§ H$_ H$m`© j_Vm hmoVr h¡ 

	 (C)	 H$_ J{V Ed§ H$_ H$m`© j_Vm hmoVr h¡ 

	 (D)	 H$_ J{V Ed§ Á`mXm H$m`© j_Vm hmoVr h¡ 

	104.	 {_{lV YmZm| Ed§ nmoMm (cheff) YmZm| go YmZm| H$mo 
AbJ H$aZo H$s à{H«$`m H$mo H$hVo h¢

	 (A)	 g\$mB©

	 (B)	 {dZmoB§J

	 (C)	 àË`oH$ H$aZm

	 (D)	 J«oqS>J

	105.	 ^maV _| IoVr H$m àH$ma Cn`moJ _| hmoVm h¡

	 (A)	 gKZ IoVr

	 (B)	 {dñV¥V IoVr

	 (C)	 àmMrZ IoVr

	 (D)	 {_{lV IoVr
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	106.	 Field Book in surveying are 

	 (A)	 Single line field book

	 (B)	 Double line field book

	 (C)	 20cm × 12cm and open length 	
wise	

	 (D)	 All of the above

	107.	 How many types of chains are used in 
chain surveying ?

	 (A)	 4	 (B)	 5

	 (C)	 6	 (D)	 8

	108.	 Sodium nitrate contains how much 
percentage of Nitrogen ?

	 (A)	 18%		  (B)	 24%
	 (C)	 12%		  (D)	 16%

	109.	 Which one is the first mutant rice 
variety of Chhattisgarh ?

	 (A)	 Chhattisgarh Dev Bhog
	 (B)	 Chhattisgarh Zink Rice-2 
	 (C)	 Zinko Rice MS
	 (D)	 Trombay Chhattisgarh Dubraj 	

Mutant-1

	110.	 Kharif crops are harvested in 
	 (A)	 June – July
	 (B)	 October – November
	 (C)	 May – June
	 (D)	 March – April

	106.	 gd}jU _o§ IoVr nwpñVH$m hmoVr h¡

	 (A)	 EH$b bmBZ \$sëS> ~wH$

	 (B)	 Ûr bmBZ \$sëS> ~wH$

	 (C)	 20 go_r × 12 go_r Ed§ bå~mB© AZwgma 
Iwbr 

	 (D)	 CnamoŠV _| go g^r

	107.	 M¡Z gd}jU _| {H$VZo àH$ma Ho$ M¡Ýg hmoVo h¡§ ?

	 (A)	 Mma	 (B)	 nm°§M

	 (C)	 N>o	 (D)	 AmR>

	108.	 gmo{S>`_ ZmBQ´>oQ> _| {H$VZm à{VeV ZmBQ´>moOZ  
hmoVr h¡ ?

	 (A)	 18 à{VeV	 (B)	 24 à{VeV
	 (C)	 12 à{VeV	 (D)	 16 à{VeV

	109.	 YmZ \$gb H$s àW_ CËn[ad{V©V {H$ñ_  
H$m¡Z-gr h¡ ?

	 (A)	 N>ÎmrgJ‹T> Xod ^moJ
	 (B)	 N>ÎmrgJ‹T> qOH$ amBg-2
	 (C)	 qOH$mo amBg E_.Eg.
	 (D)	 Q´>må~o N>ÎmrgJ‹T> Xþ~amO å`yQ>|Q>-1 

	110.	 Iar\$ \$gbmo§ H$s H$Q>mB© H$~ hmoVr h¡ ?

	 (A)	 OyZ-OwbmB©	

	 (B)	 AŠQ>mo~a-Zdå~a
	 (C)	 _B©-OyZ	

	 (D)	 _mM©-Aàob
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	111.	 System of farm accountancy  
which ignores the double effect of  
transaction is

	 (A)	 Double entry

	 (B)	 Single entry

	 (C)	 Farm book keeping

	 (D)	 Farm Accountancy

	112.	 The Physical property of a business 
along with their values at a specific 
date is enlisted in

	 (A)	 Farm budget

	 (B)	 Farm accountancy

	 (C)	 Farm inventory

	 (D)	 Farm planning

	113.	 What is farm asset ?

	 (A)	 What a farmers owns 

	 (B)	 What a farmer owes

	 (C)	 What a farmer cultivated last year

	 (D)	 An account payable	

	114.	 Cauliflower is introduced to India by

	 (A)	 Dr. Khira	

	 (B)	 Dr. Jemson

	 (C)	 Dr. H. A. Jones

	 (D)	 Nieuwhoff

	111.	 àjoÌ boI H$s àUmbr Omo boZX>oZ Ho$ Xmohao à^md 
H$mo ZOaA§XmO H$aVr h¢

	 (A)	 Xmohar à{dpîQ>

	 (B)	 BH$har à{dpîQ>

	 (C)	 àjoÌ ~hrImVm 

	 (D)	 àjoÌ boImH$_©

	112.	 EH$ {d{eîQ> {V{W na CZHo$ _yë`m| Ho$ gmW EH$ 
ì`dgm` H$s ^m¡{VH$ g§n{Îm {H$g_o§ gyMr ~Õ h¢ ?

	 (A)	 àjoÌ ~OQ>

	 (B)	 àjoÌ boImH$_©

	 (C)	 àjoÌ dñVwgyMr

	 (D)	 àjoÌ `moOZm

	113.	 àjoÌ g§n{Îm Š`m h¢ ?

	 (A)	 {OgH$m {H$gmZ ñdm_r h¢

	 (B)	 Omo {H$gmZ H$m ~H$m`m h¢

	 (C)	 {H$gmZ Ho$ {nN>bo gmb H$s IoVr

	 (D)	 Xo` IVm

	114.	 ^maV _| \y$b Jmo^r H$mo àñVm{dV {H$`m Wm

	 (A)	 S>m°. Iram	

	 (B)	 S>m°. Oo_gZ

	 (C)	 S>m°. EM. E. Om|g

	 (D)	 {Z`yìhmo\$
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	115.	 Pusa Kesar is a variety of 

	 (A)	 Turnip	 (B)	 Carrot

	 (C)	 Radish	 (D)	 Beetroot

	116.	 Which of the following tissue is involved 
in vegetative propagation ?	

	 (A)	 Xylem	 (B)	 Phloem

	 (C)	 Cambium	 (D)	 All of the above

	117.	 Which type of canopy a shade tree 
should have ?		

	 (A)	 Globular	

	 (B)	 Formal

	 (C)	 Informal	

	 (D)	 Oval

	118.	 In food preservation most commonly 
used irradiation is		

	 (A)	 X-rays	 (B)	 b-rays

	 (C)	 a-rays	 (D)	 γ-rays

	119.	 Acid resistant tin cans are also 	
called as		

	 (A)	 C-enamel	

	 (B)	 r-enamel

	 (C)	 l-enamel	

	 (D)	 s-r enamel

	115.	 nygm Ho$ga {H$gH$s${H$ñ_ h¡ ?

	 (A)	 ebO_	 (B)	 JmOa

	 (C)	 _ybr	 (D)	 MwH§$Xa

	116.	 dZñn{V àdY©Z _| {ZåZ{b{IV _| go H$m¡Z-gm D$VH$ 
em{_b h¡ ?	

	 (A)	 OmBb_	 (B)	 âbmoE_

	 (C)	 H¡$_²~r`_	 (D)	 CnamoŠV g^r	

	117.	 N>m`mXma no‹S> H$s Ho$Zmonr {H$g àH$ma H$s hmoVr h¡ ?

	 (A)	 JmobmH$ma	

	 (B)	 Am¡nMm[aH$

	 (C)	 AZm¡nMm[aH$	

	 (D)	 A§S>mH$ma

	118.	 ImÚ n[aajU _| g~go Á`mXm BñVo_mb {H$`m OmZo 
dmbm {d{H$aU h¡

	 (A)	 X-{H$aU	 (B)	 b-{H$aU

	 (C)	 a-{H$aU	 (D)	 γ-{H$aU

	119.	 E{gS> à{VamoY {Q>Z Ho$ {S>ã~o H$mo `h ^r H$hm 
OmVm h¡	

	 (A)	 C-EoZo_b	

	 (B)	 r-EoZo_b

	 (C)	 l-EoZo_b	

	 (D)	 s-r EoZo_b
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	120.	 Asepsis means

	 (A)	 Absence of infection

	 (B)	 Preservation by high temperature

	 (C)	 Pasteurization

	 (D)	 Sterilization

	121.	 At pH 3.2 acid content in jelly is
	 (A)	 0.25%-0.5%	

	 (B)	 0.5%-0.75%

	 (C)	 0.75%-1%

	 (D)	 1%-1.25%

	122.	 Jelly fail to set is due to	

	 (A)	 Over cooking

	 (B)	 Lack of pectin

	 (C)	 Excess sugar

	 (D)	 Excess of acid

	123.	 Horticulture has been derived from the 
word hortus which is 

	 (A)	 German	

	 (B)	 Latin

	 (C)	 English	

	 (D)	 French

	120.	 AmamoJmUwVm H$m _Vb~ h¡

	 (A)	 g§H«$_U H$s AZwnpñW{V

	 (B)	 CÀM Vmn_mZ Ûmam g§ajU

	 (C)	 nmñVwarH$aU

	 (D)	 {ZOu{dH$aU

	121.	 Oobr _| nrEM 3.2 na Aåb hmoVm h¡

	 (A)	 0.25%-0.5%	

	 (B)	 0.5%-0.75%

	 (C)	 0.75%-1%

	 (D)	 1%-1.25%

	122.	 Oobr O_Zo _| {d\$b {H$g H$maU go hmoVr h¡ ?

	 (A)	 Á`mXm nH$mZo na

	 (B)	 nopŠQ>Z H$s H$_r go

	 (C)	 MrZr H$s A{YH$Vm go

	 (D)	 Aåb H$s A{YH$Vm go	

	123.	 hm°{Q>©H$ëMa {H$g ^mfm Ho$ hmQ>©g eãX go {b`m 
J`m h¡ ?

	 (A)	 O_©Z	

	 (B)	 b¡{Q>Z

	 (C)	 A§J«oOr	

	 (D)	 \«|$M
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	124.	 Crotch angle is related to		

	 (A)	 Training	

	 (B)	 Pruning

	 (C)	 Grafting	

	 (D)	 Budding

	125.	 Effectiveness of windbreak is how 
many times upto the height on 
windward side ?

	 (A)	 5-10	 (B)	 10-15

	 (C)	 15-20	 (D)	 20-25

	126.	 Which of the following cooperative 
credit institution is functioning at grass 
root level for disbursing credit ?

	 (A)	 DCMS	

	 (B)	 scb

	 (C)	 pacs	

	 (D)	 nabard

	127.	 Which of the following is an institutional 
source of credit ?

	 (A)	 Money lender

	 (B)	 Relatives

	 (C)	 Traders

	 (D)	 Commercial Banks

	124.	 H«$m°M Eo§Jb g§~§{YV h¡	
	 (A)	 Q´>¡qZJ	

	 (B)	 H$Q>mB©-N>§Q>mB©

	 (C)	 H$b_ ~§YZ

	 (D)	 H${bH$m`Z

	125.	 dmVamoYH$ H$s à^mderbVm {H$VZr D§$MmB© VH$ 
AZwdmV {Xe _| ahVr h¡ ?		

	 (A)	 5-10	 (B)	 10-15

	 (C)	 15-20	 (D)	 20-25

	126.	 {ZåZ{b{IV ghH$mar g{_{V`m§o _| go H$m¡Z-gm 
F$U g§{dVaU Ho$ {bE O_rZr ñVa na H$m`© H$a  
ahm h¡ ?

	 (A)	 S>r.gr.E_.Eg.	

	 (B)	 Eg.gr.~r.

	 (C)	 nr.E.gr.Eg.	

	 (D)	 Zm~mS>©

	127.	 {ZåZ _| go H$m¡Z-gm F$U EH$ g§ñWmJV ñÌmoV 	
go h¢ ?

	 (A)	 gmhÿH$ma

	 (B)	 [añVoXma

	 (C)	 ì`mnmar

	 (D)	 ì`mdgm{`H$ ~¢H$
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	128.	 What is crop loan ?

	 (A)	 Short term loan

	 (B)	 Medium term loan

	 (C)	 Long term loan

	 (D)	 Term loan

	129.	 The Indian Council of Agricultural 
Research, New Delhi, has recognized 
how many agroclimatic zones ?

	 (A)	 8	 (B)	 9

	 (C)	 10	 (D)	 11

	130.	 How many types of flowers is present 
in Brinjal ?		

	 (A)	 1	 (B)	 2

	 (C)	 3	 (D)	 4

	131.	 Colour content of tomatoes are 
controlled by		

	 (A)	 One gene	

	 (B)	 Two gene

	 (C)	 Multiple gene

	 (D)	 None of these

	132.	 Quickest method of lawn 
establishment is		

	 (A)	 Turfing	 (B)	 Dibbling

	 (C)	 Seedling	 (D)	 Bricking

	128.	 \$gbr F$U Š`m h¡ ?

	 (A)	 AënH$mbrZ F$U

	 (B)	 _Ü`md{Y F$U

	 (C)	 XrK©H$m{bH$ F$U

	 (D)	 Ad{Y F$U

	129.	 ^maVr` H¥${f AZwg§YmZ n[afX, ZB© {Xëbr Zo {H$VZo 
H¥${f-Obdm`{dH$ joÌ H$s nhMmZ H$s$h¡ ?

	 (A)	 8	 (B)	 9

	 (C)	 10	 (D)	 11

	130.	 ^m§Q>m _| {H$VZo àH$ma Ho$ \y$b nm`m OmVo h§¡ ?	

	 (A)	 1	 (B)	 2

	 (C)	 3	 (D)	 4

	131.	 Q>_mQ>a H$s a§J gm_J«r {Z`§{ÌV H$s OmVr h¡	

	 (A)	 EH$ OrZ	

	 (B)	 Xmo OrZ

	 (C)	 {d{dY OrZ

	 (D)	 BZ_| go H$moB© Zht

	132.	 bm°Z ñWmnZm H$s g~go VoO {d{Y h¡	

	 (A)	 Xÿdm©V¥U amonU	 (B)	 {N>ÐamonU 

	 (C)	 ~rO Ûmam	 (D)	 {~«qH$J
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	133.	 Swami Vivekanand has done pioneer 
work in		

	 (A)	 Rose	

	 (B)	B ougainvillea

	 (C)	 Chrysanthemum

	 (D)	 Dahlia

	134.	 If Roses are planted at spacing of 	
30 cm � 20 cm, then number of 	
plants/ha. are		

	 (A)	 260260	
	 (B)	 344260
	 (C)	 166666
	 (D)	 26060089

	135.	 Which among the following is temporary 
method of preservation ?		

	 (A)	 Pasteurization

	 (B)	 Preservation by salt

	 (C)	 Preservation by sugar

	 (D)	 Drying

	136.	 Solution of salt in water is called as

	 (A)	 Vinegar	

	 (B)	 Cider

	 (C)	B rine

	 (D)	 Juice

	133.	 ñdm_r {ddoH$mZ§X Zo ewédmVr H$m_ {H$g_o§  
{H$`m h¡ ?

	 (A)	 Jwbm~	

	 (B)	 ~m¡J¡Z{dbm

	 (C)	 JwbXmCXr

	 (D)	 S>oh{b`m

	134.	 AJa Jwbm~m| H$s amonmB© 30 g|_r � 20 g|_r _| H$s 
OmVr h¡, Vmo à{V hoŠQ>o`a nm¡Ym| H$s g§»`m hmoVr h¡ 	

	 (A)	 260260	
	 (B)	 344260
	 (C)	 166666
	 (D)	 26060089

	135.	 {ZåZ{b{IV _| go H$m¡Z-gm AñWm`r n[aajU H$m 
VarH$m h¡ ?		

	 (A)	 nmñVwarH$aU

	 (B)	 Z_H$ Ûmam n[aajU

	 (C)	 eŠH$a Ûmam n[aajU

	 (D)	 gwImZm

	136.	 nmZr _| Z_H$ Ho$ Kmob H$mo H$hm OmVm h¡

	 (A)	 {gaH$m	

	 (B)	 gmBS>a

	 (C)	 ~«mB©Z	

	 (D)	 ag
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	137.	 In case of coloured processed food, 
which preservative is being used ?

	 (A)	 Benzoic acid

	 (B)	 SO2

	 (C)	 Ethylene

	 (D)	 NaOH

	138.	 In which mango species fruits can be 
peeled like banana fruits ?		

	 (A)	 Mangifera caesia

	 (B)	 Mangifera gedede

	 (C)	 Mangifera decandera

	 (D)	 Mangifera pajang

	139.	 Citrus greening is caused by	

	 (A)	 Aphid	

	 (B)	 Virus

	 (C)	 Bacteria

	 (D)	 Fungi

	140.	 Pusa Nanha is a variety of

	 (A)	 Papaya

	 (B)	B anana

	 (C)	 Mango	

	 (D)	 Grape

			 

	137.	 a§JrZ àg§ñH¥$V ImÚ _| Omo n[aajH$ H$m Cn`moJ 
{H$`m Om ahm h¡ dh h¡

	 (A)	 ~|µOmoBH$ Aåb

	 (B)	 SO2

	 (C)	 E{WbrZ

	 (D)	 NaOH

	138.	 {H$g Am_ H$s àOm{V Ho$ \$bm| H$mo Ho$bo Ho$ \$b H$s 
Vah N>rbm Om gH$Vm h¡ ?		

	 (A)	 _|Jr\o$am H$mE{e`m

	 (B)	 _|Jr\o$am JoS>oXo

	 (C)	 _|Jr\o$am XoHo$ZXoam

	 (D)	 _|Jr\o$am nmOm§J

	139.	 gmBQ´>g J«rqZJ Ho$ H$maU hmoVm h¡ 	

	 (A)	 E{\$S²>	

	 (B)	 dmBag

	 (C)	 OrdmUw	

	 (D)	 H$dH$

	140.	 nygm ZÝhm {H$gH$s$ {H$ñ_ h¡ ?	

	 (A)	 nnrVm	

	 (B)	 Ho$bm

	 (C)	 Am_	

	 (D)	 A§Jya
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	141.	 Black Quarter is caused by

	 (A)	 Virus	 (B)	 Parasite

	 (C)	 Bacteria	 (D)	 Fungus

	142.	 Which of the following diseases can 
be prevented by vaccination ? 

	 (A)	 Rinderpest	

	 (B)	 Haemorrhagic Septicaemia

	 (C)	 Black Quarter

	 (D)	 All of the above

	143.	 Anthrax spores can survive in soil for 
how long ?		

	 (A)	 Upto 10 days

	 (B)	 Upto 10 weeks

	 (C)	 Upto 1 year

	 (D)	 Upto 50 years

	144.	 Which of the following is incorrectly 
matched ?

	 (A)	 RIR – American class

	 (B)	 Sussex – English class

	 (C)	 Leghorn – Asiatic class

	 (D)	 Minorca – Mediterranean class 

newnmbZ Ho$ VËd Ed§ Hw$ŠHw$Q> nmbZ

	141.	 EH$-Q>§{J`m amoJ H$m H$maH$ h¡ 

	 (A)	 {dfmUw	 (B)	 naOrdr

	 (C)	 OrdmUw	 (D)	 \$\y§$X

	142.	 BZ_o§ go {H$g ~r_mar H$mo Q>rH$mH$aU Ûmam amoH$m Om 
gH$Vm h¡ ?

	 (A)	 new _hm_mar	

	 (B)	 JbKmoQy>§

	 (C)	 EH$ Q>§{J`m	

	 (D)	 CnamoŠV g^r

	143.	 EÝWo«Šg amoJ Ho$ ~rOmUw {_Q²>Q>r _o§ H$~ VH$ Or{dV 
ah gH$Vo h¢ ?

	 (A)	 10 {XZ VH$	

	 (B)	 10 gßVmh VH$

	 (C)	 1 gmb VH$	

	 (D)	 50 gmb VH$

	144.	 BZ_§o go H$m¡Z-gr OmoS>r JbV h¡ ?

	 (A)	 Ama.AmB©.Ama.– A_o[aH$Z {H$ñ_

	 (B)	 g°goŠg – A§J«oOr {H$ñ_

	 (C)	 boJhmZ© – E{e`mB© {H$ñ_

	 (D)	 {_ZmoaH$m – ^y_Ü`gmJar` {H$ñ_	

AG – 3
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	145.	 One of the main organization which 
played a pivotal role in white revolution 
in India is

	 (A)	 NDRI	 (B)	 NDDB

	 (C)	 NABARD	 (D)	 CDRI

	146.	 In a dairy business, a statement 
showing assets and liabilities at any 
point of time in a year is known as

	 (A)	 Balance sheet	

	 (B)	 Account sheet

	 (C)	 Tax Calculation sheet	

	 (D)	 All of the above

	147.	 In order to start a dairy business, major 
cost involved in which head ?

	 (A)	 Capital cost	

	 (B)	 Electricity and water cost

	 (C)	 Labor cost	

	 (D)	 Management cost

	148.	 Which is the best method of milking a 
dairy cow ?

	 (A)	 Stripping	

	 (B)	 Knuckling

	 (C)	 Full hand milking	

	 (D)	 Half hand milking	

	145.	 ^maV Ho$ ídoV H«$m§{V _| {H$g g§ñWm H$m à_wI 
^y{_H$m ahr h¡ ?

	 (A)	 NDRI	 (B)	 NDDB

	 (C)	 NABARD	 (D)	 CDRI

	146.	 S>o`ar ì`dgm` _| EH$ {dÎmr` ã`moam {Og_§o 
g§npËV`m± XoZXmar Ed§ ny§Or H$m {ddaU ahVm h¡, 
Cgo Š`m H$hVo h¡§ ?

	 (A)	 ~¡boÝg erQ>	

	 (B)	 boIm erQ>

	 (C)	 H$a AmH$bZ erQ>	

	 (D)	 CnamoŠV g^r

	147.	 S>o`ar ì`dgm` àma§^ H$aZo hoVw {H$g erf© _| 
A{YH$V_ bmJV em{_b h¡ ?

	 (A)	 ny§OrJV bmJV 	

	 (B)	 {~Obr Ed§ nmZr hoVw bmJV

	 (C)	 _OXÿar bmJV	

	 (D)	 à~§YZ bmJV

	148.	 Jm` go XÿY XmohZo H$m gdm}Îm_ {d{Y H$m¡Z-gm h¡ ?

	 (A)	 pñQ´>qnJ	

	 (B)	 ZpŠb¨J

	 (C)	 \w$b h¡ÝS> {_pëH¨$J	

	 (D)	 hm\$ h¡ÝS> {_pëH¨$J
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	149.	 Freezing point of milk is

	 (A)	 (–) 0.512 to (–) 0.572°C

	 (B)	 0°C

	 (C)	 (+) 0.512 to (+) 0.572°C

	 (D)	 1°C

	150.	 In Gerber method of determining fat 
% of milk which acid is first mixed with 
milk sample ?

	 (A)	 Sulphuric acid

	 (B)	 Nitric acid

	 (C)	 Hydrocloric acid

	 (D)	 Acetic acid

	151.	 Out of the following fodder crops which 
has highest protein content ?

	 (A)	 Maize	 (B)	 Sorghum

	 (C)	 Oat	 (D)	 Berseem

	152.	 Which of the following preserved 
fodder has higher moisture content ?

	 (A)	 Hay

	 (B)	 Silage

	 (C)	 Both have equal moisture 
content

	 (D)	 Both have absolutely no moisture 
content

	149.	 Xw½Y H$m {h_m§H$ q~Xþ {ZåZ _| go Š`m h¡ ?

	 (A)	 (–) 0.512 go (–) 0.572°C

	 (B)	 0°C

	 (C)	 (+) 0.512 go (+) 0.572°C

	 (D)	 1°C

	150.	 Ja~a àUmbr _| Xþ½Y H$m dgm à{VeV² àmßV H$aZo 
hoVw gd©àW_ Xþ½Y Z_yZo H$mo {H$g Aåb _| {_bm`m 
OmVm h¡ ?

	 (A)	 gëâ`y[aH$ E{gS>

	 (B)	 ZmB{Q´>H$ E{gS>

	 (C)	 hmB©S´>moŠbmo[aH$ E{gS>

	 (D)	 Ego{Q>H$ E{gS>

	151.	 {ZåZ _| go {H$g Mmam \$gb _| g~go A{YH$ 
àmoQ>rZ nm`m OmVm h¡ ?

	 (A)	 _ŠH$m	 (B)	 Ádma

	 (C)	 OB©	 (D)	 ~agr_

	152.	 {ZåZ _| go {H$g g§a{jV Mmam _| Z_r A{YH$  
hmoVr h¡ ?

	 (A)	 ho

	 (B)	 gmB©boO

	 (C)	 XmoZm| _| ~am~a _mÌm _| Z_r ahVr h¡

	 (D)	 XmoZm| _| Z_r {~ëHw$b Zhr§ ahVr h¡
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	153.	 Livestock sector during last two 
decades, has grown at an annual 
rate of

	 (A)	 5 – 6%	

	 (B)	 10 – 15%

	 (C)	 15 – 20%

	 (D)	 20 – 25%

	154.	 The average gestation period of a 
cow is 9 months and 9 days whereas 
the average gestation period of a  
buffalo is

	 (A)	 10 months and 10 days	

	 (B)	 11 months and 11 days

	 (C)		 12 months and 12 days

	 (D)	 13 months and 13 days

	155.	 What is the name of milk sugar ?

	 (A)	 Sucrose	

	 (B)	 Galactose

	 (C)	 Lactose	

	 (D)	 Fructose

	156.	 A hormone responsible for milk 
production is named as

	 (A)	 Oxytocin	 (B)	 ACH

	 (C)	 Prolactin	 (D)	 TSH

	153.	 {nN>bo Xmo XeH$mo _| newYZ goŠQ>a H$s dm{f©H$ 
d¥{Õ Xa Š`m ahr h¡ ?

	 (A)	 5 – 6 à{VeV	

	 (B)	 10 – 15 à{VeV

	 (C)	 15 – 20 à{VeV

	 (D)	 20 – 25 à{VeV

	154.	 Jm` H$m Am¡gV J^©H$mb 9 _mh 9 {XZ hmoVm h¡ 
O~{H$ ^¢g H$m Am¡gV J^©H$mb ________ 
hmoVm h¡ &

	 (A)	 10 _mh Ed§ 10 {XZ	

	 (B)	 11 _mh Ed§ 11 {XZ

	 (C)	 12 _mh Ed§ 12 {XZ	

	 (D)	 13 _mh Ed§ 13 {XZ

	155.	 Xþ½Y eH©$am H$m Zm_ Š`m h¡ ?

	 (A)	 gwH«$moµO	

	 (B)	 JoboŠQ>moµO

	 (C)	 boŠQ>moµO	

	 (D)	 \«w$ŠQ>moµO

	156.	 Xþ½Y CËnmXZ Ho$ {bE CÎmaXm`r hm°a_moZ H$m Zm_ 
______ h¡ &

	 (A)	 Am°ŠgrQ>mogrZ	 (B)	 E. gr. EM.

	 (C)	 àmoboŠQ>rZ	 (D)	 Q>r. Eg. EM.
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	157.	 For cleaning dairy appliances water 
used should be

	 (A)	 Hard water (soap does makes less 
bubbles)

	 (B)	 Soft water (soap makes more 
bubbles)

	 (C)	 Any water whether hard or soft

	 (D)	 Water should not be used, acetone 
or alcohol should be used

	158.	 Cleaning in place (CIP) means 
cleaning dairy equipments and 
sanitary pipelines by circulating

	 (A)	 Hot alkaline and then hot acidic 
cleaning solution

	 (B)	 Only hot alkaline cleaning 
solution

	 (C)	 Only hot acidic cleaning solution

	 (D)	 Only through neutral solution

	159.	 In a dairy plant detergent used for 
cleaning may be

	 (A)	 Alkaline detergent

	 (B)	 Synthetic detergent

	 (C)	 Both of the above

	 (D)	 None of the above

	157.	 S>o`ar CnH$aUm| Ho$ g\$mB© _| Cn`moJ hmoZo dmbm 
nmZr

	 (A)	 hmS>© dmQ>a (H$R>moa Ob) ({Og_| gm~wZ 
~wb~wbo H$_ ~Zm`|)

	 (B)	 gmâQ> dmQ>a (H$mo_b Ob) ({Og_| gm~wZ 
A{YH$ ~wb~wbo ~Zm`|)

	 (C)	 H$moB© ^r nmZr, H$R>moa `m H$mo_b, Cn`moJr h¡

	 (D)	 nmZr Zht, EgrQ>moZ `m EëH$mohb H$m Cn`moJ 
{H$`m OmZm Mm{h`o

	158.	 ñWmZ na hr g\$mB© (gr.AmB©.nr.) H$m AW© h¡, 
S>oar CnH$aUm| Ed§ g¡{ZQ>mar nmB©nbmB©Ýg H$s g\$mB© 
{ZåZ _| go {H$gH$s gaŠ`wboeZ Ûmam {H$`m  
OmVm h¡ ?

	 (A)	 J_© jmar` Ed§ CgHo$ ~mX J_© Aåbr` 
g\$mB© Kmob

	 (B)	 Ho$db J_© jmar` g\$mB© Kmob

	 (C)	 Ho$db J_© Aåbr` g\$mB© Kmob

	 (D)	 Ho$db Ý ẁQ́>b (CXmgrZ) {db`Z Ho$ _mÜ`_ go

	159.	 S>o`ar ßbmÝQ> _| Cn`moJ _| AmZo dmbr {S>Q>O]Q> 
{ZåZ _| go H$m¡Z-go hmo gH$Vo h¢ ?

	 (A)	 jmar` {S>Q>O]Q>

	 (B)	 H¥${Ì_ {S>Q>O]Q> ({gÝWo{Q>H$ {S>Q>O]Q>)

	 (C)	 CnamoŠV XmoZm|

	 (D)	 CnamoŠV _| go H$moB© ^r Zht
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	160.	 Which of the following milk product 
has highest water content per unit 
volume ?

	 (A)	 Ghee

	 (B)	B utter

	 (C)	 Both has equal water content

	 (D)	 Both has no water content  
only fat

	161.	 Cattle disease transferred to man is

	 (A)	 FMD	

	 (B)	 Anthrax

	 (C)	 Rinderpest	

	 (D)	 All of the above

	162.	 Best age of dehorning of a calf is

	 (A)	 1 week	 (B)	 4 week

	 (C)	 8 week	 (D)	 12 week

	163.	 When two breeds are crossed 
alternatively, cross is known as

	 (A)	 Criss crossing	

	 (B)	 Triple crossing

	 (C)	 Back crossing	

	 (D)	 None of these

	160.	 {ZåZ{b{IV Xþ½Y nXmWm] _| à{V Am`VZ g~go 
Á`mXm nmZr H$s _mÌm {H$g_| h¡ ?

	 (A)	 Kr

	 (B)	 _ŠIZ

	 (C)	 XmoZm| _| ~am~a nmZr H$s _mÌm h¡

	 (D)	 XmoZm| _| nmZr H$s _mÌm Zht h¡, Ho$db dgm h¡

	161.	 H$m¡Z-gr ~r_mar _doer go AmX_r H$mo hmoVr h¡ ?

	 (A)	 amoJ _w§hnH$m-IwanH$m

	 (B)	 EÝW«oŠg

	 (C)	 new _hm_mar	

	 (D)	 CnamoŠV _| go g^r

	162.	 Jm` Ho$ ~N>‹S>o _| gtJ CVmaZo H$s g~go ~{‹T>`m± 
C_« Š`m hmoVr h¡ ?

	 (A)	 1 gßVmh	 (B)	 4 gßVmh

	 (C)	 8 gßVmh	 (D)	 12  gßVmh

	163.	 O~ Xmo Zñbm| H$m g§H$aU ~mar-~mar go hmoVm h¡, 
Cg g§H$aU H$mo Š`m H$hVo h¡§ ?

	 (A)	 H«$sg  H«$m°qgJ	

	 (B)	 Q´>rnb H«$m°qgJ

	 (C)	 ~¡H$ H«$m°qgJ	

	 (D)	 BZ_| go H$moB© Zht
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	164.	 The objective of Artificial 
Insemination is

	 (A)	 Breed Improvement	

	 (B)	 Better Productivity

	 (C)	 Better Income	

	 (D)	 All of the above

	165.	 A good dairy animal is selected based 
on which criteria ?

	 (A)	 General health and weight in 
relation to age

	 (B)	 Shape of udder and number of 
active teats

	 (C)	 Taking average of 3 times 
milking

	 (D)	 All of the above

	166.	 In order to judge a cow of Gir Breed 
one should look at

	 (A)	 Its milking ability

	 (B)	 Its body colour and age only

	 (C)	 Its length of ears and shape of 
forehead

	 (D)	 Its body color, length of ears and 
shape of forehead

	164.	 H¥${Ì_ J^m©YmZ H$m CX²Xoí` h¡ ?

	 (A)	 Zñb gwYma	

	 (B)	 CËnmXH$Vm _| d¥{Õ

	 (C)	 Am` _| d¥{Õ	

	 (D)	 CnamoŠV g^r

	165.	 EH$ AÀN>r XþYmê$ Jm` H$m M`Z hoVw {H$Z  
_mnXÊS>m| na narjU {H$`m OmVm h¡ ?

	 (A)	 C_« Ho$ AZwnmV _| gm_mÝ` ñdñW Ed§ dOZ

	 (B)	 WZm| H$s ~ZmdQ> VWm g{H«$` Q>rQ²>g Ho$ 
g§»`m

	 (C)	 3 ~ma Xþ½Y H$s _mÌm H$m Am¡gV kmV H$aHo$

	 (D)	 CnamoŠV g^r

	166.	 EH$ {Ja Zñb H$s Jm` H$mo naIZo Ho$ {b`o {H$Z 
{~ÝXþAm| na Jm¡a H$aZm Mm{h`o ?

	 (A)	 XÿY XoZo H$s j_Vm

	 (B)	 Ho$db eara H$m a§J Ed§ C_«

	 (C)	 H$mZ H$s b§~mB© Ed§ _mWo H$s ~ZmdQ>

	 (D)	 eara H$m a§J, H$mZ H$s b§~mB© Ed§ _mWo H$s 
~ZmdQ>
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	167.	 “Murrah’’ buffalo breed is so called 
due to

	 (A)	 Curved nature of horns

	 (B)	 The breed originates from Murrah 
District of Punjab

	 (C)	 Neck is tilted

	 (D)	 The buffalo turns back when 
called

	168.	 A good detergent for cleaning dairy 
appliances should have

	 (A)	 Alkalinity

	 (B)	 Water softening property

	 (C)	 It should be non-corrosive and 
non-toxic

	 (D)	 All of the above

	169.	 Curd has which good bacteria in it ?

	 (A)	 Streptococcus thermophillus

	 (B)	 Lactobacillus bulgaricus

	 (C)	 Both of the above

	 (D)	 None of the above

	167.	 ""_wam©'' Zñb Ho$ ^¢g H$m Zm_ `w§ n‹S>m Š`m|{H$

	 (A)	 gtJ _w‹S>o hþE ahVo h¢

	 (B)	 Zñb H$s CËnÎmr n§Om~ Ho$ ""_wam©'' {Obm go 
hþB© Wr

	 (C)	 JX©Z _w‹S>m hþAm ahVm h¡

	 (D)	 nwH$maZo na `h ^¢g _w‹S>H$a XoIVm h¡

	168.	 S>o`ar CnH$aUm| H$s g\$mB© Ho$ {b`o Cn`moJ _| AmZo 
dmbr {S>Q>O]Q> _| Š`m JwU hmoZo Mm{h`o ?

	 (A)	 jmar`Vm

	 (B)	 dmQ>a gm°pâZ¨J JwU

	 (C)	 {S>Q>O]Q> j`H$mar Ed§ {dfmŠV Zht hmoZm 
Mm{h`o

	 (D)	 CnamoŠV g^r

	169.	 Xhr _| {H$g àOmVr Ho$ AÀN>o H$sQ>mUw ahVo h¢ ?

	 (A)	 ñQ´>oßQ>moH$moŠH$g W_m}{\$bg

	 (B)	 boŠQ>mo~¡grbg ~bJ¡[aH$g

	 (C)	 CnamoŠV XmoZm|

	 (D)	 CnamoŠV _| go H$moB© ^r Zht
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	170.	 Which of the following milk product 
has highest shelf life at room 
temperature ?

	 (A)	 Paneer	 (B)	 Curd

	 (C)	 Butter	 (D)	 Ghee

	171.	 Pasteurization of milk kills

	 (A)	 All bacteria in milk

	 (B)	 All human disease causing 
bacteria in milk

	 (C)	 Sterilizes the milk

	 (D)	 All bacteria, viruses and fungi 
present in milk

	172.	 Spleenic fever is another name for 
which disease ?

	 (A)	 Foot and Mouth

	 (B)	 Anthrax

	 (C)	 Cow Pox

	 (D)	 Mastitis

	173.	 What is the temperature of liquid 
nitrogen ?

	 (A)	 – 96°C	 (B)	 + 96°C

	 (C)	 – 196°C	 (D)	 + 196°C

	170.	 {ZåZ{b{IV Xþ½Y nXmWm] _| go {H$g nXmW© H$mo 
gm_mÝ` Vmn_mZ _| A{YH$ g_` VH$ gwa{jV 
aIm Om gH$Vm h¡ ?

	 (A)	 nZra	 (B)	 Xhr

	 (C)	 _ŠIZ	 (D)	 Kr

	171.	 Xþ½Y H$mo nmñQw>amB©OoeZ à{H«$`m {H$`o OmZo go

	 (A)	 g^r H$sQ>mUw _a OmVo h¢

	 (B)	 g^r, _Zwî`m| Ho$ amoJ n¡Xm H$aZo dmbo {H$Q>mUw 
_a OmVo h¢

	 (C)	 Xþ½Y H$m {ZO©ÝVwH$aU hmo OmVm h¡

	 (D)	 g^r H$sQ>mUw, {dfmUw Ed§ \$\y$ÝX _a OmVo h¢

	172.	 BZ_o§ go {H$g ~r_mar H$mo {Vëbr Áda ^r H$hVo h¢ ?

	 (A)	 _w°hnH$m-IwanH$m

	 (B)	 EÝW«oŠg

	 (C)	 Jmo  MoMH$

	 (D)	 WZobr

	173.	 Vab ZmBQ´>moOZ H$m Vmn_mZ Š`m hmoVm h¡ ?

	 (A)	 – 96°C	 (B)	 + 96°C

	 (C)	 – 196°C	 (D)	 + 196°C
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	174.	 Longest phase of Oestrus cycle is

	 (A)	 Pro-estrus

	 (B)	 Estrus

	 (C)	 Met-estrus	

	 (D)	 Di-estrus

	175.	 Milk vein in cow contains

	 (A)	 Water	

	 (B)	B lood

	 (C)	 Milk	

	 (D)	 Milk and Blood

	176.	 In a dairy business initial cost incurred 
in procurement of land and equipment 
is classified as

	 (A)	 Recurring expenditure	

	 (B)	 Non-recurring expenditure

	 (C)	 Both of the above	

	 (D)	 None of the above

	177.	 If the Feed Conversion Ratio (FCR) 
of a broiler is 1.6 means that the bird 
gains 1 kg of weight for how much kgs 
of feed consumed ?

	 (A)	 1.6 kgs	 (B)	 2.6 kgs

	 (C)	 3.6 kgs	 (D)	 4.6 kgs

	174.	 F$Vw MH«$ H$s g~go b§~r AdñWm Š`m hmoVr h¡ ?

	 (A)	 àmo-BñQ´>g

	 (B)	 BñQ´>g

	 (C)	 _oQ>-BñQ´>g	

	 (D)	 S>mB©-BñQ´>g

	175.	 Jm` H$s Xþ½Y {eam _| Š`m hmoVm h¡ ?

	 (A)	 nmZr	

	 (B)	 aŠV

	 (C)	 XÿY	

	 (D)	 XÿY Ed§ aŠV

	176.	 S>o`ar ì`dgm` _| gd©àW_ O_rZ Ed§ CnH$aUm| 
Ho$ H«$_ _| H$s JB© ì`` H$mo {H$g_| dJuH¥$V {H$`m 
J`m h¡ ?

	 (A)	 AmdVu ì``	

	 (B)	 AZmdVu ì``

	 (C)	 CnamoŠV XmoZm| 

	 (D)	 CnamoŠV _| go H$moB© ^r Zht

	177.	 `{X {H$gr ~«m`ba _wJu H$m Amhma ê$nm§Va AZwnmV 
1.6 h¡, AWm©V² _wJu H$mo 1 {H$bmo H$m dOZ àmßV 
H$aZo Ho$ {bE {H$VZm {H$bmoJ«m_ Amhma J«hU H$aZm 
nS>oJm ?

	 (A)	 1.6 {H$bmo	 (B)	 2.6 {H$bmo

	 (C)	 3.6 {H$bmo	 (D)	 4.6 {H$bmo
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	178.	 Bacillary white diarrhoea is also known 
as

	 (A)	 Pullorum disease

	 (B)	 Salmonellosis

	 (C)	 Fowl Pox

	 (D)	 Fowl cholera

	179.	 Coccidiosis in poultry affects the chicken 
of what age ?		

	 (A)	 Only young birds
	 (B)	 Only old birds
	 (C)	 Both young and old birds
	 (D)	 None of these

	180.	 What is a common roundworm infection 
in poultry ?

	 (A)	 Ascaridia galli
	 (B)	 Heterakis gallinarum
	 (C)	 Thelazia callipaeda
	 (D)	 All of the above

	181.	 Tallest breed of sheep is

	 (A)	 Deccani	 (B)	 Nellore
	 (C)	 Bikaneri	 (D)	 Nilgiri

	182.	 Ongole breed of bullock is mostly 
found in

	 (A)	 Andhra Pradesh	
	 (B)	 Karnataka
	 (C)	 Kerala	
	 (D)	 Tamil Nadu

	178.	 ~ogrbar ìhmBQ> S>m`[a`m H$mo Bg Zm_ go ^r OmZm 
OmVm h¡

	 (A)	 nwbmoa_ ~r_mar	

	 (B)	 gmb_moZobmo{gg

	 (C)	 \$m°Cb nm°Šg	

	 (D)	 \$m°Cb H$m°boam

	179.	 _w{J©`m| _| H$m°Šgr{S>`mo{gg {H$g C_« Ho$ n{j`mo§  H$mo 
à^m{dV H$aVm h¡ ?

	 (A)	 Ho$db H$_ C_« Ho$ n{j`mo§ _| 
	 (B)	 Ho$db Á`mXm C_« Ho$ n{j`mo§ _|
	 (C)	 XmoZmo§ àH$ma Ho$ n{j`mo§ _|
	 (D)	 BZ_o§ go H$moB© Zht

	180.	 _w{J©`mo§ _| gm_mÝ`V`: nm`m OmZo dmbm JmobH¥${_

	 (A)	 EgHo$ao{S>`m JobmB©
	 (B)	 hoQ>ao{H$g Jo{bZoa_
	 (C)	 Wobo{µO`m H¡$brnrS>m
	 (D)	 CnamoŠV g^r

	181.	 ^|S> H$s g~go D§$Mr Zñb h¡

	 (A)	 S>oŠH$mZr	 (B)	 Z¡ëbmoa
	 (C)	 ~rH$mZoar	 (D)	 Zrb{Jar

	182.	 A§Jmob Zñb H$m ~¡b _w»`V: nm`m OmVm h¡ 

	 (A)	 AmÝY«àXoe	
	 (B)	 H$Zm©Q>H$
	 (C)	 Ho$ab	
	 (D)	 V{_bZmSy>
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	183.	 Surti breed is related to which  
animal ?

	 (A)	 Cow	 (B)	 Buffalo
	 (C)	 Goat	 (D)	 Poultry

	184.	 In cows, after calving, generally 
expulsion of placenta should happen 
within what time ?

	 (A)	 1 – 2 hours

	 (B)	 2 – 3 hours

	 (C)	 6 – 8 hours	

	 (D)	 20 – 25 hours

	185.	 In different species breeds the 
percentage of water in milk varies 
from

	 (A)	 50 – 60%	

	 (B)	 60 – 70%

	 (C)	 70 – 80%	

	 (D)	 80 – 90%

	186.	 In which of the following breed of cow 
fat % is lowest ?

	 (A)	 Holstein Fresian	

	 (B)	 Gir

	 (C)	 Sahiwal	

	 (D)	 Red Sindhi

	183.	 gyaVr Zñb go H$m¡Z-gm new g§~§{YV hmoVm h¡ ?

	 (A)	 Jm`	 (B)	 ^¢g

	 (C)	 ~H$ar	 (D)	 _wJu

	184.	 Jm` _| ~ÀMm OZZo Ho$ ~mX gm_mÝ`V`: Ooa {H$VZo 
g_` _| ~mha {JaZm Mm{hE ?

	 (A)	 1 – 2 K§Q>m	

	 (B)	 2 – 3 K§Q>m

	 (C)	 6 – 8 K§Q>m	

	 (D)	 20 – 25 K§Q>m

	185.	 {d{^Þ àOm{V Ed§ Zñbm| Ho$ Xþ½Y _| nmZr H$m 
à{VeV {ZåZ _| go Š`m hmoVo h¢ ?

	 (A)	 50 – 60%

	 (B)	 60 – 70%

	 (C)	 70 – 80%	

	 (D)	 80 – 90%

	186.	 {ZåZ _| go {H$g Zñb Ho$ Jm`m| Ho$ Xþ½Y _| dgm 
H$m à{VeV g~go H$_ hmoVm h¡ ?

	 (A)	 hm°ëñQ>rZ \«o$Or`Z	

	 (B)	 {Ja

	 (C)	 gmhrdmb	

	 (D)	 aoS> {gÝYr



a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

		  	 22103/BE – AG/ENT – M

	 -51-	 Set-A

	187.	 In comparison to water

	 (A)	 Water is heavier than milk

	 (B)	 Milk is heavier than water

	 (C)	 Milk is sometimes heavier and 
sometimes lighter than water

	 (D)	 Both milk and water are of same 
specific gravity

	188.	 Which of the following instrument is 
used to determine specific gravity of 
milk ?

	 (A)	 Milkometer

	 (B)	 Lactometer

	 (C)	 Both of the above

	 (D)	 None of the above

	189.	 True stomach in poultry is

	 (A)	 Caeca	

	 (B)	 Gizzard

	 (C)	 Proventriculus	

	 (D)	 Crop

190.		 How many days are required to turn an 
egg into a chicken in poultry Hatcheries ?

	 (A)	 14 days	 (B)	 21 days

	 (C)	 28 days	 (D)	 35 days

	187.	 nmZr Ho$ VwbZm _|
	 (A)	 nmZr Xw½Y go A{YH$ ^mar hmoVm h¡

	 (B)	 Xw½Y nmZr go A{YH$ ^mar hmoVm h¡

	 (C)	 Xw½Y nmZr go H$^r ^mar Am¡a H$^r hëH$m 
hmoVm h¡

	 (D)	 Xw½Y Ed§ nmZr XmoZm| Ho$ {d{eîQ> JwéËd EH$ 
g_mZ hmoVo h¢

	188.	 {ZåZ _| go {H$g CnH$aU H$m Cn`moJ Xw½Y H$s  
{d{eîQ> JwéËd (ñno{g{\$H$ J«o{d{Q>) kmV H$aZo _| 
H$s OmVr h¡ ?

	 (A)	 {_ëH$mo_rQ>a

	 (B)	 boŠQ>mo_rQ>a

	 (C)	 CnamoŠV XmoZm|

	 (D)	 CnamoŠV _| go H$moB© ^r Zht

	189.	 _wJu _| "Agbr noQ>' {H$go H$hVo h¢ ?

	 (A)	 grH$m

	 (B)	 {JOS>©

	 (C)	 àmodoÝQ´>rHw$bg

	 (D)	 H«$m°n

	190.	 nmoëQ´>r h¡Mar _| {H$VZo {XZm| _| _wJu A§S>m MyOo _| 
~Xb OmVm h¡ ?

	 (A)	 14 {XZ	 (B)	 21 {XZ

	 (C)	 28 {XZ	 (D)	 35 {XZ
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	191.	 Cage system is better than deep litter 
system in poultry housing because

	 (A)	 It checks spread of diseases

	 (B)	 It uses space effectively

	 (C)	 It produces clean eggs

	 (D)	 All of the above

	192.	 A broiler chicken feed contains how 
much percentage of protein to support 
rapid growth ?

	 (A)	 22%	 (B)	 18%

	 (C)	 16%	 (D)	 14%

	193.	 Milking machine has advantage over 
hand milking in a very large dairy 
farm due to

	 (A)	 Low operational cost	

	 (B)	 Clean milk collection

	 (C)	 Ease of distribution of collected 
milk to processing plant	

	 (D)	 All of the above

	194.	 Which of the following Indian state 
sparked off the white revolution ?

	 (A)	 UP	

	 (B)	 MP

	 (C)	 Bihar	

	 (D)	 Gujarat

	191.	 _wJu Amdmg A§VJ©V Ho$O nÕ{V S>rn brQ>a nÕ{V 
go ~ohVa h¡ Š`m|{H$

	 (A)	 `h ~r_mar H$mo \¡$bZo go amoH$Vr h¡ 

	 (B)	 `h OJh H$m ~ohVa Cn`moJ H$aVr h¡ 

	 (C)	 `h gm\$ A§S>o n¡Xm H$aVr h¡ 

	 (D)	 CnamoŠV g^r

	192.	 EH$ ~«m`ba _wJu Ho$ Amhma _| {H$VZm à{VeV àmoQ>rZ 
hmoZm Mm{hE Omo Vrd« emar[aH$ {dH$mg H$mo _XX H$ao ?

	 (A)	 22 à{VeV	 (B)	 18 à{VeV

	 (C)	 16 à{VeV	 (D)	 14 à{VeV

	193.	 hmW go XÿY XþhZo go {H$gr ~‹S>o S>o`ar \$m_© _| Xþ½Y 
XþhZo H$m _erZ A{YH$ \$m`Xo_§X H¡$go h¡ ?

	 (A)	 H$_ AmdVu ì``	

	 (B)	 gm\$ Xþ½Y EH${ÌV H$aZo _| ghm`H$

	 (C)	 Xþ½Y H$mo àg§ñH$aU `§Ìm| VH$ nhþ±MmZo _| 
gabVm	

	 (D)	 CnamoŠV g^r

	194.	 {ZåZ _| go {H$g amÁ` _| ídoV H«$mpÝV H$m CX²^d 
hþAm ?

	 (A)	 CÎmaàXoe	

	 (B)	 _Ü`àXoe

	 (C)	 {~hma	

	 (D)	 JwOamV
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	195.	 After calving the thick yellowish 
milk obtained from cow is known as 
colostrum which is available upto 
how many hours ?

	 (A)	 7 hrs.	 (B)	 72 hrs.
	 (C)	 720 hrs.	 (D)	 1 hr.

	196.	 Fat and protein is present in milk as
	 (A)	 Fat as emulsion, protein as 

colloidal suspension	
	 (B)	 Fat as colloidal suspension, 

protein as emulsion
	 (C)	 Fat and protein both as 

emulsion
	 (D)	 Fat and protein both as colloidal 

suspension

	197.	 Which of the following are fodder trees 
found in India ?

	 (A)	 Subabool (Leucaena)

	 (B)	 Shevri (sesbania)

	 (C)	 Kachnar (Bauhinia)

	 (D)	 All of the above

	198.	 Barseem and lucerne fodder is 
cultivated in

	 (A)	 Kharif

	 (B)	 Rabi

	 (C)	 Both of the above

	 (D)	 None of the above

	195.	 ã`mZo Ho$ ~mX Jm` go àmßV hmoZo dmbm nrbm Ed§ 
Jm‹T>m Xþ½Y H$s Irg (H$mobmoñQ´>_) H$hVo h§¡ Omo Jm` 
Ho$ ã`mZo Ho$ {H$VZo K§Q>m| VH$ àmßV hmoVm h¡ ?

	 (A)	 7 K§Q>o	 (B)	 72 K§Q>o
	 (C)	 720 K§Q>o	 (D)	 1 K§Q>m

	196.	 dgm Ed§ àmoQ>rZ XmoZm| Xþ½Y _| nm`o OmVo h¡§

	 (A)	 dgm nm`g (B_ëgZ) Ho$ ê$n _|, àmoQ>rZ 
H$mobmB©S>b {Zb§~Z Ho$ ê$n _|	

	 (B)	 dgm H$mobmB©S>b {Zb§~Z Ho$ ê$n _|, àmoQ>rZ 
nm`g (B_ëgZ) Ho$ ê$n _|

	 (C)	 dgm Ed§ àmoQ>rZ XmoZm| nm`g (B_ëgZ) Ho$ 
ê$n _|

	 (D)	 dgm Ed§ àmoQ>rZ XmoZm| H$mobmB©S>b {Zb§~Z 
Ho$ ê$n _|

	197.	 ^maV _| {ZåZ _| go H$m¡Z-go Mmam d¥j Ho$ ê$n _| 
OmZm OmVm h¡ ?

	 (A)	 gw~~yb

	 (B)	 eodar

	 (C)	 H$MZma

	 (D)	 CnamoŠV g^r

	198.	 ~agr_ Ed§ bygU© Mmam {H$g _m¡g_ _| IoVr H$s 
OmVr h¡ ?

	 (A)	 Iar\$

	 (B)	 a~r

	 (C)	 CnamoŠV XmoZm|

	 (D)	 CnamoŠV _| go H$moB© Zht
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	199.	 Shaeffer’s formula is used to calculate 
weight of cow. This formula is 

	 (A)	
Weight

in Pounds = = 

Length
in inches

Girth
in inches

×

300

	 (B)	 Weight
in Ki ramslog =	=

Length
in inches

Girth
in inches

×

300

	 (C)	
Weight

in Pounds = = 	
Length

in inches
Girth

in inches
×

3000

	 (D)	
Weight

in Ki ramslog = = 	
Length

in inches
Girth

in inches
×

3000

	200.	 Approximate age of live cow can be 
determined by

	 (A)	 Dentition pattern

	 (B)	 Length of femur bone

	 (C)	 Length of horns

	 (D)	 Length of tail

	

	199.	 Jm` Ho$ dOZ kmV H$aZo hoVw eo\$g© \$ma_ybm H$m 
Cn`moJ hmoVm h¡, dh h¡

	 (A)	
dOZ

nmD$§S > _o§( ) = 	

b§~mB© n[a{Y 

BÝM _o§ BÝM _o§
×

300

	 (B)	
dOZ

>{H$bmo _o§( ) =
	

b§~mB© n[a{Y 

BÝM _o§ BÝM _o§
×

300

	 (C)	
dOZ

nmD$§S > _o§( ) =  	

b§~mB© n[a{Y 

BÝM _o§ BÝM _o§
×

3000

	 (D)	
dOZ

>{H$bmo _o§( ) =
 	

b§~mB© n[a{Y 

BÝM _o§ BÝM _o§
×

3000

	200.	 {OÝXm Jm` H$m C_« {ZåZ _| go {H$g {d{Y go kmV 
{H$`m Om gH$Vm h¡ ?

	 (A)	 XmVm| H$s ~ZmdQ>

	 (B)	 \$s_a hÈ>r Ho$ b§~mB© ZmnH$a

	 (C)	 gtJm| Ho$ b§~mB© ZmnH$a

	 (D)	 ny§N> H$s b§~mB© ZmnH$a
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    SET –  A 

CÎma A§{H$V H$aZo H$m g_` :          3 K§Q>o	 A{YH$V_ A§H$ : 200

Time for making answers : 3 Hours	 Maximum Marks : 200

ZmoQ> :

1.	 Bg àíZ nwpñVH$m _| VrZ ^mJ - AG-1, AG-2, AG-3 & BZ ^mJm| _| A§H$m| H$m {ddaU {ZåZmZwgma h¡ -
	 (i)	 AG-1	 –	 (^m¡{VH$ emñÌ, agm`Z emñÌ, J{UV Ed§ Ord emñÌ)	 1-80	 80 A§H$
	 (ii)	 AG-2	 –	 (\$gb CËnmXZ Ed§ CÚm{ZH$s)	 	 81-140	 60 A§H$
	 (iii)	 AG-3	 –	 (newnmbZ Ho$ VËd Ed§ Hw$ŠHw$Q> nmbZ)	 141-200	 60 A§H$

	 àË`oH$ àíZ 1 A§H$ H$m h¡ & g^r àíZ hb H$aZm A{Zdm`© h¡ &

2.	 àíZm| Ho$ CÎma Xr JB© OMR CÎma-erQ> (Am§ga erQ>) na A§{H$V H$s{OE Ÿ&

3.	 F$UmË_H$ _yë`m§H$Z Zht {H$`m OmdoJm Ÿ&

4.	 {H$gr ^r Vah Ho$ H¡$bHw$boQ>a `m bm°J Q>o~b Ed§ _mo~mBb \$moZ H$m à`moJ d{O©V h¡ Ÿ&

5.	 OMR CÎma-erQ> (Am§ga erQ>) H$m à`moJ H$aVo g_` Eogr H$moB© AgmdYmZr Z ~aV| {Oggo `h \$Q> Om`o `m Cg_| 
_mo‹S> `m {gbdQ> Am{X n‹S> Om`o {OgHo$ \$bñdê$n dh Iam~ hmo Om`o Ÿ&

Note :

1.	 This question booklet contains three Parts – AG-1, AG-2 and AG-3. The distribution of 
marks in these parts are as follows – 

	 (i)	 AG-1	 –	 (Physics, Chemistry, Mathematics and Biology)	 1-80	 80  Marks
	 (ii)	 AG-2	 –	 (Crop Production and Horticulture)	 81-140	 60 Marks
	 (iii)	 AG-3	 –	 (Elements of Animal Husbandry and Poultry Farming)	141-200	 60 Marks

	 Each question contains 1 mark. All questions are compulsory.

2.	 Indicate your answers on the OMR Answer-Sheet provided.

3.	 No negative marking will be done.

4.	 Use of any type of calculator or log table and mobile phone is prohibited.

5.	 While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does 
not get torn or spoiled due to folds and wrinkles.


